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AT T 81O geaT —ArTioD GRed IUPH T JeTR, &l d IR &FTdiel gel

Himiford g TafaRuTasIe geHT — Fh1eTsiiiie] Te, ISThRI Yillet, TIfaRuT aRe, Piie, SR IeaweTa
APl g Alfefcidmaed - Wiid g 3, REUe, I, FRT g TRS, JD g ok, Aleed Ao
HISTIAYIS e g WIS - thiel TYl, Wl BMARI, Hew@rd foad, AU, Jaid HIS/BIc
euLenT, fgeht @ TamTeTsidTCieT bt

TRAI, JREPR g TgHT

(R) AT YEHIIA g 3dHe /90

faerrT amfor gfehre, Tfecep, fFeeds

uReeciae fsed, aRfRr anifor ufcRarg, faermr amfor gheftan A
fola oo, TR Sisavl, UG -HRUI, $e Alfediasie 9T
STl AIRRATT, A Fece gedreult

e, fageror

§Gh, o g HISOl gawT, HHid- argult

iR b, Hef 39 @ g

R SMO7 qUTHTIoTRT

NPT g TTERIeT U9, ST

(90) 3repmfora 3mfor wifeaht /90

ATVl — ofRATfel, FTfd, diges ST T e

SRIST, ISTETD], UIPR, WRTIHR, S AYUIidh

TEHIRI, IRIGRY, TOTRR STIOr Teror, s, ARge!
J% g 3R, ¥ed, dIC G STelqalg

BB T DH

o1 3fOT rer, fashr nfor w@ve

AT g Tghdle TSl

ey, geur®, deieR, T

AYTA], hHT, IRRINY

900) FeRd, %k, AR
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HERTY 3RTSURAT WAl 9 GRIETT (€ 9) / (1€ &) 033

YUR i — ? : WTHRI &THdT =raoi

(3) 9= fasT= g 9=

?)
3)

)
&)

?)
90)

99)
92)
93)
9%)
94)

Wifdpems (fsforasd)

ARSI (BAR)

ST ST (FITot)

TR (gie)

]G, §aT$ 9 I BT, Yiiferss wifgedt sorett @ wrer Suiie
Arfeelt T AT A

37) Wiifrepere (fohfore)
TCeTTeT, IS, st — Heprel, &, faegagasia og<t
feregcremer, eepca, STUfasT, TR 3T BRI f[Ie™

) ISR (HAR))

STARIRYM — 4T, 3TeIT, &R, 3T, FGH, A, &l
INRIG S, ey SARFIRS — RGP, Hlch1ord, S+

&) TUReTRE (SISISH)
oNfas= T AR, Ui aRffeRur 3ol SergRur, Tt sRRfAsT

QSUYch AT BFilhRep UM — Ge[UTeld, FUTeadd, Pgcdler

$) gt (diest)
R gffepRuT SATOr SRl
HUIIST & IR, SUGeh AT EIDRD I — TheAlcdTe STIOT Ferercit

3) [AGH, §ATS @ 319 BRI, Hiviifor ATfac SuMTel g T Suo

RS, g1 d g BRI
Aot Hifgc YoTell 9 T ST

%) HTfRcl @ AU A

IV AT — SMYFh FHISI S FMURPTe! YHepT, el &ATciles ST Arehrel iR
HRG[ThI THSAH — SICT PRYFhIA, AedfehT AT dg Al roi

AR T2 9 IR gfoey

IR SR BRI — rdtar Sa gfdrn, fen arfeh, s afe, \mfRe =it oy g
IR TAST FENT — YRS Alfgd! T ST 1@
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() SRS, TETS T S BRI
CASCEa]

4T 9 S BT
SYUE I

q E
FE ... 2T 916G YA YEHRTIGR WRIaTcId /ScHoids JTeaqul geldgmiicd fSUe ey geaih
AT SNBETIRISH 1M ATHFIUON AR ST,

9) IRNGHRACTT ) W& 3) R afam ¥) IO

Currently the term is used more commonly to denote identification of earth features by detecting

the characteristic electromagnetic radiation reflected/emitted by earth surface.
1) Bioinformatics 2) Reflection 3) Remote sensing 4) Emission

WieAteied! PR faer S aroR anfor siftftear USGS affaur gumefiean denia dcr omg ?

9) RAlcell AFs ST AU hedT STV AT SFIahcral T UTde! A 4% SR,

R) Relcell ¥Fs SeT AU bl STV, JISId] SFgacral T dTde! fhH {4 % SIATdT.

3) SHITePRUT YUMTeA! ST &3fieR SR STATell.

¥) 9T 3RS Iegl SIEFIAT teh Udhd dTdR 3NosRded] ST,

Which of the following statement is TRUE with respect to USGS land use and land cover

classification system ?

1) The minimum level of interpretation accuracy using remotely sensed data should be at least
85%.

2) The minimum level of interpretation accuracy using remotely sensed data should be at least
95%.

3) The classification system should be applicable over small areas.

4) Only single use of land should be recognized when possible

Q) §arE 9 SN BRITRE

feRicer PRI Rificelt A=s ST SaigR Yifae afarunfasd fivaaia aifgd) fcavarh wer
anfor Jemfes T Wiefierdd PIurdt 3R ?

9) Rere afam Q) eIt d

3) 3ffcHcs 3T Pwar e ®) Blemied a

Which of the following involve art and scientific processes of obtaining reliable information
about physical environment by remotely sensed analog data in digital format ?

1) Remote sensing 2) Surveying principles

3) Automated data capture system 4) Photogrammetric principles
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grugElciier el groarer Rt acia g ... IO I UBR MU STTSs 21T,

9) NIR gHoRI R) WR SR 3) YHel SO %) LIDAR gort
Submarine groundwater discharge in coastal waters can be best detected using ...........
1) NIR imagery 2) Radar imagery 3) Thermal imagery  4) LIDAR imagery

3fifeedset ST NIR §€ a19%e ND VI SHeuarrd! @lefietidh! Hiord agd A g 2

9) NDVI=(fgzar - &ret) (faRan + frel) ?) NDVI=(NIR - GREEN) (NIR + GREEN)

3) NDV=(NIR + RED) (NIR -RED) 8) NDVI=(NIR - RED) (NIR + RED)

Which of the following is the correct method to derive NDVI using the optical and NIR bands ?

1) NDVI=(GREEN - RED) (GREEN + RED) 2) NDVI=(NIR - GREEN) (NIR + GREEN)
3) NDVI=(NIR + RED) (NIR - RED) 4) NDVI=(NIR - RED) (NIR + RED)

Tttt PIvr e deg 3 ?

q) AHFT T U, IBR STl ARG FRISUTEIRIM, Siegl |dedn FRigbre e gedrd
cegT Ui SHfth FgsIul T el S

R) A FRMTIRIR, BTSSRI AT AFRDIUD MRS, Stegl Hiaed FRISPIRET o ST
cegT U Sifth Fgsuul € el ST

3) Ueb A 9 FgU, HocRUeer 33 <1 FRISUIGRRIM, Siegl ATaed FRISPIRTT R ST degl
T 3TfRIeh AESTIU FIE bl ST,

8) AMFT FREER, g5 BRIRERIT GRS FRISUEIIM, Siegl Aaedl FRisemmn e
TSI cIegl TfHT 3ffieh AESTaul FIE hedl ST,

Which of the following statements is TRUE ?

1) As a general rule, during monoscopic observation of radar data, images are more easily
interpreted when shadows fall towards the observer.

2) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall aways from the observer.

3) As a general rule, during the observation of multispectral FCC, images are more easily
interpreted when shadows fall away from the observer.

4) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall towards the observer.

........... IMEY S JeTHd T SRIAIT : (1) | dheled] gals BRI fhal IWE U= A,
SR 3T dfdrsesr / fRrc gomef qui det ST 9Teha 3MfOT (§) TTfthes b STecauie SargR ufemht

q) ST SCRMICLA &l R) BRI
3) SRR & ¥) feeRan-snet
A, consists of two basics part : A collection of annotated aerial photographs or satellite

image, illustrative of the features or conditions to be identified, and a graphic or word description
that sets forth in some systematic manner, the image recognition characteristic of those features
or conditions.

1) Image interpretation key 2) Photogram

3) Overlapping area 4) Stereo-pair

TERTY 3RTSTURT W4T (T ) / (T &) T=a THem 033/ 9¢
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oTeT FATE AABILTRAIC! aToRelet Gavl el 3MTe:

q) SRR TN Q) AT I

3) TGl AP ¥) grefeemmfed T
The other term used for groundwater flow map is :

1) Iso-contour map 2) Isopach map

3) Flydraulic map 4) Potentiometric map

RGTCAeTUhT IV FeHTLNT JHICHE YTOATT THTOTERIG Afecid AamTaatier <ol of TRETe 1T QurATe!
ST A 3TTR ?

q) BRI STIAIST Febrel R) oIl T kb el

3) R Fepram 8) YSTcl HHTY ~Tebrem

Which of the following maps provides an overview of information on the groundwater volume
that is potentially available for exploitation in an area ?

1) Hydro isobath Maps 2) Groundwater Equipotential Difference Map
3) Consequence Map 4) Groundwater Prospect Map

3) SUIE JAUM
TefieTdehl PIOTAT AR T A=A 37Te Sl AT AT - ReteeM HUTHIS! aTuRel S5 2! 2
9) PreNc Q) ofedic 3) AN ¥) RarRe
Which of the following is an Indian satellite sensor that can be used for very high-resolution
mapping of urban areas?
1) Cartosat 2) Landsat 3) Modis 4) Resourcesat

HigReplerg dl.ga.ues.cal. — T yg Jcbe Dol Haifie e ?

q) AT Q) =@ 3) SLaRELa. g) AR
Who among the following launched the PSLV — C54 rocket from Sriharikota ?
1)NASA 2)ISRO 3) DRDO 4) BARC

SUIE HicHiaRe TIR dheledl W Teh1emHed, Txd ot Sof ... ORI 3R 1.
q) Pre fhardier O drpel fhelrieR et

R) Tl HicR O bl Hicx el

3) 900 fhelHicr T EIRT fhatiiier st

8) rél Hiex I S@l fpetier el

In a lineament map prepared from satellite imagery, the Major lineaments can range from .......
1) A few kilometers to hundreds of kilometers in length

2) A few meters to hundreds of meters in length

3) 100 kilometers to thousands of kilometers in length

4) A few meters to Ten Kilometers in length
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4)

4)

5)

Jedc 9 T MSS T TNIolis] S 3T

9) 0.4-0.§ HRIHA
0.§—0.9 HRIHHE
0.9-0.¢ HRIHH
0.¢0-9.9 HIIhA

3) 0.8-0.4 ARHHE
0.4-0.§ HRIHHE
0.§-0.9 HRIHHE
0.9-0.¢ HRIHH

The wavelength bands of MSS of Landsat 1 are :

1) 0.5-0.6 microns
0.6-0.7 microns
0.7-0.8 microns
0.80-1.1 microns

3) 0.4-0.5 microns
0.5-0.6 microns
0.6-0.7 microns
0.7-0.8 microns

Q)

2)

4)
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0.8-0.4 HRIHH
0.§-0.9 HRIHHE
0.9-0.¢ HRIHH
0.¢0—0.¢¢ HIHE
0.4-0.§ HRIHHE
0.§-0.9 HRIHHE
0.9-0.¢ HRIHH
9.4Y4 — 9.99 AR

0.4-0.5 microns
0.6-0.7 microns
0.7-0.8 microns
0.80-0.88 microns
0.5-0.6 microns
0.6-0.7 microns
0.7-0.8 microns
1.55 - 1.77 microns

WlefleTidh! Do HHR. MF-T18 IRS Sumgre fesimfcs Reflegerelt amg Jedrd ?

9) LISS-T1 v fse
LISS-II © foe
LISS-II1 u foe
PAN ¢ fse

3) LISS-I ¢ fse
LISS-II ¢ foe
LISS-1I1 ¢ fée
PAN v fée

?)

LISS-I ¢ fie
LISS-II ¢ fae
LISS-III ¢ fae
U g foe
LISS-1 v fde
LISS-II ¢ foe
LISS-TI ¢ fae
PAN ¢ fdc

Which of the following is a correct match of the radiometric resolution of cameras on-board IRS

satellites ?

1) LISS-17bit
LISS-II 7 bit
LISS-III 7 bit
PAN 6 bit

3) LISS-I8bit
LISS-II 8 bit
LISS-III 8 bit
PAN 7 bit

2)

4)

LISS-18 bit
LISS-II 8 bt
LISS-III 8 bit
PAN 6 bit
LISS-17 bit
LISS-II 8 bit
LISS-III 8 bit
PAN 6 bit
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6)

7)

Sugr IRS 9- T 1D Hifefddial ARl saaieiia Relieqemell I Sesuft i

9) LISS-T vR.y = ) THReH
LISS-II 3¢.2y # LISS-T .y =t
WiFS ac¢¢ =t LISS-II 3&.2y Ht

WIiFES 9¢.937

3) U9 4.cH ¢) Pan 9y.¢
LISS-T 2.y =t LISS- ©2.4
LISS-IT 3.2y #t LISS-11 3.2y #t
WiFS 9¢.a3 #t WiFS qcc¢ #t

Identify the correct match of spatial resolution of sensor of IRS 1A to 1D series of satellites.

1) LISS-I172.5m 2) Pan2.8m
LISS-I136.25m LISS-172.5m
WiFS 188m LISS-I136.25m

WiFS 18.13m

3) Pan5.8m 4) Pan 15.8m
LISS-172.5m LISS-172.5m
LISS-I136.25m LISS-1136.25m
WiFS 18.13m WiFS 188m

For Private Circulation Only

IRS-ID LISS-III =21 quishia sisel qeimetidl emmed:

)

3)

0.43-0.4% HIIhIA
0.§2-0.§¢ HIIHHE
0.99—0.¢§ HITHHA
9.44-9,90 HRIDMH
0.43-0.4% HRIHIA
0.§-0.§¢ HIIHHE
0.90-0.¢0 HRIHIF
9.90-9.¢0 HRIHH

?)

0.80—0.40 HIIH
0.49-0.50 HRIH
0.§9-0.90 HRIHHE
0.99-9.90 HRIHHE
0.43-0.4% HIIhI
0.§-0.5&¢ HIIHHE
0.99-0.¢§ HIThA
9.£0-2.80 HRIHH

The wavelength of the spectral bands of IRS-ID LISS-III sensor are :

1)

3)

0.52-0.59 microns
0.62-0.68 microns
0.77-0.86 microns
1.55-1.70 microns
0.52-0.59 microns
0.62-0.68 microns
0.70-0.80 microns
1.10-1.80 microns

2)

4)

0.40-0.50 microns
0.51-0.60 microns
0.61-0.70 microns
0.71-1.10 microns
0.52-0.59 microns
0.62-0.68 microns
0.77-0.86 microns
1.80-2.40 microns
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TRUIR® FCC S8 @Wiefieridh o fIem sRIeR 3R ?

9) YT AT AR, I STaw-3eRd WIadddl 3Rielel @ed o8 feaamd, 9 ol Wiacd
3Rl &Y fiRa feaara onifr 99 fod R aRiclel o163 el fdId, 31el U 3dedTell
AT YD ATGIPRYT fHesdl.

) YHH VT AHSTHEY, $9 Sdo—3dvth R 3RTeiel] ey ol foadid, S9 ol URIaciehdl
3Rl A& SEle el feaard, SifT I feRelt uRracianaT aRfelelt @1edl e fo=aaiTe, arem HepR
SMMIGATAT AL HHD ATGIBRUT s,

3) Y AT FHHHE, 9 Side—3TaRth WRIadhd] 3RTeiel] A& oiet foaqdId, 39 alel RTadhdl
3RACTel T1e faRal faqaTa anifor =1 feRelt wRTeiend sRelell o6 M fAdTd, 312 HehR SueTel
AT YD ATGIPRYT fHesdl.

8) YT FTFAT AHAHE, I9 STacs—3fa=eh RIadid] 3elell o1& oflel fodiard, I eflel Wil
3Rl &Y ST alle foddTd 37ifor = feRell wRTeciend sRielell o6y ferall faAdTd, 31em uepR
SMMIGATAT AL AP ATGIHRUT s,

Which of the following statement is CORRECT about a conventional FCC ?

1) In a false colour composite, targets with high near-infraed reflectance appear blue, those with
a high red reflectance appear green, and those with a high green reflectance appear red, thus
giving us a "false" presentaiton of the targets.

2) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear blue, thus
giving us a "false" presentation of the targets.

3) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance appear green, and those with a high green reflectance appear blue, thus
giving us a "false" presentation of the targets.

4) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear green,
thus giving us a "false" presentation of the targets.
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(90) ¥iiMfere wifgch HuITel T T STISH

ST gR Idetey BIOT=AT ATfcl SFIERT ......... 3

9) 900 o 0.9 #t ) 900 @ 0.09 H 3) 9000 7 0 0.9 H ) 90009 T 00.09 .
GPS position information has the accuracy in between ...........
1) 100 to 0.1m 2) 100 to 0.01m 3) 1000 to 0.1 m 4) 10001 to 0.01 mm

q) AT Q) U3 3) 4 )RIIRER]
Geographical Indifications Registry Office is situated at .........
1) Ahmedabad 2) Chennai 3) Mumbai 4) Panipat

GIS Humetied), av<idl areft Hififcen dferscel STt PUR el agerd AT ST FH=R HUIeHIREd
A 3Med, R qUE PROIRATS! ... g el aTRe S,

9) Rraneifen ) At 3) i ) faQar

InGIS, .......... is the term used to describe the geometric characteristics of objects which do not

change under transformations and are independent of an co-ordinate system.
1) Geocoding 2) Topology 3) Grid 4) Attribute

"GIS 3MUIRT ARCR Toia A0’ gl IY-IISHT 3T

9) HRITHSY AT T RIS 3feet faem Q) e Ridls fem

3) SRl A8 A e Rgafel Fem  8) oI WA JESit e B2
‘Formulation of GIS Based Master Plan’ is a sub-scheme of :

1) Atal Mission for Rejuvenation and Urban Transformation

2) Smart Cities Mission

3) Jawaharlal Nehru National Urban Renewal Mission

4) Shyama Prasad Mukherji Rurban Mission

HiMferes Aifac! Humeieiel FAifed F2=aT T9T Sl Uiscadse IRcxHHlel AeRre! Jedrar et
SAGUATE WTetierthl DIoT Tga 37 ?

) eRIAATSt ) SexuleieH 3) IR =T ¥) daex =T

Which of the following is a method of predicting values for cells in a raster from a limited
number of sample data points in the Geographical Information System?

1) Typology 2) Interpolation 3) Raster data 4) Vector data

SUIIFT FLMYTRITS! T FgUT aTiReAT ST 'RADaR' 2reqr quf %Y Mg
q) Sfefe 3T AR TUMcHD ST fagetyor Q) Seie 3T HAR YRATIHS ST fagersor

3) POR URATUCHD STl fALeIvumer Hemer 8) PR TUICHD STl fALeITueRr HLMer

The full form of the term ‘RADaR’ used as a technique for Applied Research is :
1) Rapid and Rigorous Qualitative Data Analysis

2) Rapid and Rigorous Quantitative Data Analysis

3) Research on Rigorous Quantitative Data Analysis

4) Research on Rigorous Qualitative Data Analysis
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GRS ueHed eI, Hifeahiy aRATIHD gEleIA AfoT feferermififees geiep a1 GIS ardRe
............ T3S0 FRUTRATS ATIREAT STV gt 37T

9) YT ) B d16 3) Wiec HUT ) gh HIGT
Heuristic qualitative approach, statistical quantitative approach and deleterministic approach are
the methodologies used to analyze .......... using GIS.

1) Landslides 2) Urban growth 3) Fault mapping 4) Joint mapping

THICRPIT R IHRT Tgeiial TR ] STeTTeall SRl Wlefiefh! Piok TR i Mg ?
q) AT YoTeT WA SU-YSHATRIT 91 e ol
CFCIpel fRepRIT S oRAT.
Q) YSiatred Wl egrd weTer Fifead @,
ISR AlHG Teh o0l
3) YT TS G et Sftoset
STEFtcier Sierar HT
) SU-USHN S84 (Afeaa awul,
TGS a1 oR.
Which of the following is correctly related to groundwater exploration using Magnetic methods
of Geophysical survey ?
1) Determining sub-surface structures of large groundwater basins.
Tracing tectonically disturbed zones.
2) Determining iron content in groundwater basins.
Identifying porous rocks in subsurface
3) Identifying magnetic anomaly due to contaminated groundwater
Mapping soil moisture

4) Determining sub-surface dykes.
Tracing limestone cave

GIS 7, fSIea=iem SX=ImmaT 31 19 TR ...

9) IAMHAT aC IJUTEY ITheAT FTY PRUART AT <all.

Q) 3T e IuAeY 3Nt T IRUGRT AN < ATl

3) IAMEhAT aC AT Mehef FU BRI IFAT <l

¥) 3Tl Hedfeg IUcTed 3Mhell 1 PRUART A <all.

In GIS, during digitization, arc snap tolerance .............

1) Allows the end of an arc to be snapped to an existing arc

2) Dis-allows the end of an arc to be snapped to an existing arc

3) Allows the end of an arc to be snapped to the adjacent arc
4) Allows the mid-point of an arc to be snapped to an existing arc

90) ARRY AT oIS ST AR MeST Bl STar -

10)

9) ICAR-CIFE, §5% ?) ICAR-FRIC, g%

3) ICAR-CIFRI, Targrct 8) ICAR-CMFRI, &
Data on the landing of marine fish are collected by the :

1) ICAR-CIFE, Mumbai 2) ICAR-FRIC, Bengaluru
3) ICAR-CIFRI, Guwahati 4) ICAR-CMFRI, Cochin
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HifgcH I 0T T
VI TSI — ST TSI WIUThTET YfHeT,
FHRIfAHR TAAT — STl HRYAHe, eafhT ST aq SIS IoiT
AR g 9 T "foey
ST ST e — gt 3a ofdran, fRren arfeeht, s anfeh, wmfaes et g geard
TR TSI ST - YRl ATfRclt d=eT See are

(99) FUIE TS

URL 37 @1 B Elefletd<h! pIordT 3mg ?

q) g RN dllohex R) i RARA dfldher

3) giefardt Rat e 8) Ioipel RAM dlhe
Which of the following is the long form of URL?

1) Universal Resource Locator 2) Uniform Resource Locator
3) Utility resource location 4) Useful resource location

TS Pls Bl U ThHIaD shisc dre ARG 3 ey <1d Wiefielden! I g SufRuet 3.

q) ARIHIHIRRR R) TR e 3) 9d 3 %) aRIcTDh! Thal et
A smart card is similar to a plastic credit card except that it has the presence of:
1) Microprocessor 2) Storage unit 3)Both 1 and 2 4) None of the above

IR AIFed3R (AFeda3R ause) 3nfor < quiq Ifear Siiear ofrar.

a) Brefthas i) uEw aeie waren fafi FET fhar JRem 9o SR RUINIIS! TR
Pl TR DS

b) Ua ii) WcdsR 3ftetihe fhar MRfeT R A 3M® 3ruscs WY
AT PRUATATS!

¢) Jfeed Up iii) foerTH vesiogcse M 78 @i fhar URia FIfdy RugrRie

iR SR :

(@ () (o)
9 i 1

)i i 11l
3) i i i
8) i i
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)
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Match the following software update and its description.

a) Hotfix 1) Designed to fix bug or security role in a program
b) Patch 11) Contains several updates for software applications or operating system.
¢) Service pack 111) Design to insert a code into existing executable program
Answer Options :
(@ ((b) (o
1) i i il

2) 1 1 111
3) 11
4) 1 1 i

qRIRNATFE TaieT & diciioldeh! PIvcdT AFeda3R o IR0l 38 ?

9) BT Q) TS URRR 3) s%pal dfetfemm  ¥) Wedfe
Microsoft excel is an example of which of the following software ?

1) Presentation 2) Word processor 3) Desktop publishing 4) Spreadsheet
9 GB &RIR ........

q) Q30 ﬁw Q) Q30 gnga:[ 3) Q%0 ﬁ—a;[ 8) Q%0 Eﬂgﬁ?{
1GBisequalto.........

1) 2°° bits 2) 2% bytes 3) 2% bits 4) 2'° bytes

qTeleTdehl IV ITERU 19 T N HAR! AT ARL &I 2

q) AERD HHAYA R) Tfep Tt
3) g w 8) qrIfis g g W Segl
Memories such as ROM and RAM are examples of which of the following ?
1) Auxiliary Memory 2) Primary Memory
3) Secondary Memory 4) Both Primary and Secondary Memory
Teflel Mo FehRedT T SIS SIodl.
a) AP M (Masked ROM) i) fo=ra RweT 7 g et
b) ¥ (PROM) i) PREIT Thdra fordlel ST,
c) suim (EPROM) iii) erfarfer gemam fiefier S
d) gg9™ (EEPROMO iv) Tarera fordlar A TR BRI SIS BT I
TEU fefgletel R,
i S :
@ () (© @
1) i i v il

2) 11 wvooao1
3) 11 v o1 111
4) 1 1 m v
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Match the following type of ROM and their characteristics :

a) Masked ROM 1) Erased using electrical signal

b) PROM 11) Written once, at the factory

¢) EPROM 111) Written once, at the factory

d) EEPROM 1v) Can be programmed once, but comes unprogrammed

from factory
Answer options :
@@ (b) (¢) (d)
1) i i v il
2) i ivoodil i
3) it v i iii
4) i i i v

gc¥e UIdihidl T ... IRIE TEUIA.

q) TS g Q) T

3) f3ud IS Al ¥) Bics 3Mud/fous RIS IIT
Internet protocol address is also called as ..........

1) Address of location 2) Address of organization

3) Dotted quad 4) Dotted Rectangle

. U35, 61T 8 S| giaee PRI Sed JIR e argd A el Rived 3R’ ITdis
ALVINN 31 9Tecrl Bhig WTeies HeplR 3T,

q) 3Aicl ols Tgshel 31 = -Icad

R) SICHITNT BUS @hes 31 31 =AISG -cdd

3) JfcHcE BUS RS I AT cdd

g) IS BUS Tgehes 371 YIS AcdD

ALVINN is a system which learns to control vehicles by watching a person drive here ALVINN
stands for ..........

1) Auto Land Vehicle in New Network

2) Autonomous Land Vehicle in a Neural Network

3) Automated Land Vehicle in Next Network

4) Advance Land Vehicle in Neural Network

31.T9.3R U RIS BRI ?

q) e Rime R T - SgR e IR 95

3) eftier afir Wb RS - o efie el Rele Rifem &5 el

3) TfiFc ol ¥ YRiee U - UoI&d UR YSedTeR 3T UHiH Wy Mgdia.
y) cfie ofs Riffed Rg - 1 &M Q0T Seder &d:d e g,

Whatis TSR program ?

1) Terminal Signal Registry Program, which alter System Registry.

2) Terminal and Scan Report, Which Scan Remote System Prior to terminating.

3) Terminate and Stay Resident those programs that actually stay in memory after execution.
4) Terminate and System Remove that erase themselves when complete.
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el Pt fau™ PHP S8af &R 3R ?

9) PHP & dcgR rgs fEpCiT HINT 3.

R) PHP & oefRic Wiss fREpedin |1l 3.

3) PHP & U& Scied 3TTe.

8) RIeTih! TR A

Which of the following statement is true about PHP ?
1) PHP is a Server Side Scripting Language

2) PHP is a Client Side Scripting Language

3) PHP is a database

4) None of the above

ADC #efiet 3ifem sl a/an......... 3e SN fefitedt wriHefier RiserTar SRIART BHAE HUaR exal.

9) ThleR Q) uRHmr 3) 8N ) T
The final block in ADCis a/an .......... that converts signals from digital form into binary form.
1) encoder 2) quantise 3) hold 4) sample

Wil P Tomefl IgH @vd St SCAD Hhicenelidl ST T axd Mfr A1eR ol AT
SITIRCAT FHST HUIRT ST 3Maedes 3RTed™d, SCADA a3 Hfshard Rl JURUIRT A& vl ?
9) PRGIDAT SRR ) HMI Hitedar

3) SCADA wideh Hiuren y) Ree e gfica

Which of the following provides a system that consolidates and presents the data from SCADA
field and enables operators to understand and, if needed, modify the status of SCADA-controlled

process ?
1) Communication infrastructure 2) HMI software
3) SCADA supervisory computers 4) Remote terminal units

Wieiietidl PRt AeRger Rerear Amfler 9o qRadel 3TR ?

q) HEAHD HIUS ?) TeTsel T Feu

3) fOr geur g) SRFRI JASCYCATS! et
Which of the following is shown at the back side of a materical relay ?

1) Numerical keypad 2) LED reset button

3) Control button 4) TB for binary outputs

FIFTR (i) M7 T SR ararervr (AefH) Jfeandial deur@r e o™ Sl ARgaRaheted

IR P PROINT TG IRAl Tl U,
9) ITERATRID T Q) ThIhIfSRIT
3) AFNITET TR Q) WiTRET

The scientific study of the relationship between the workman (People) and his working environment
(Machine) that helps in reduction of musculoskeletal disorders is called

1) occupational disease 2) acrophobia

3) psychological study 4) ergonomics

TERTY IRTSTURIT W4T (1€ 9) / (T &) J&I T8 033/ ¢
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ettt Pivrar PLC TR TR M efies, sidqiid M saarciel sare sHifaw ame ?

) Y wh Q) ErSWhIfUT

3) U ThA g) 3TSCIC Fh

Which of the following PLC operation step involves communication with programming terminals,
internal diagnostics etc ?

1) Input scan 2) Housekeeping

3) Programm scan 4) Output scan

Tefiq a1 RS STt olaet ¥eieaT STHYT ddelell IaHT SYTIRT W axd, of RREW ... J@m
3feEell .

3) ReTmRiHe @ 8) Af-goRargss A

Machine Learning System which attempts to find hidden structure from unlabelled data is known
as ...

1) Supervised Learning 2) Unsupervised Learning

3) Reinforcement Learning 4) Semi-supervised Learning

Tefiq AT RS STt eldel ¥eledT STHYT ddelell IaHT QUTART T axd, of RREH ... J@m
3ileseget! ST,

) GURATESS T Q) IFTYRATESS T

3) ReTmRiHe @ 8) Af-gRaESe AT

Machine Learning System which attempts to find hidden structure from unlabelled data is known

1) Supervised Learning 2) Unsupervised Learning
3) Reinforcement Learning 4) Semi-supervised Learning

TERTY SRISTURT W4T (T ) / (T &) T=a THem 033/ R
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(93) FIFBIH T

BT BB, eafdT MfOT a9 SaTG ST

cadhd AIgH SMBR TaHHaef Sietel 3Med @1 JRIMET WeH UK el ...... g TR,

q) Fcad R) TSt 3) PIaeH 8) TRER TEY

A term that refers to the way in which the nodes of a network are linked together referred as
1) networ 2) topology 3) connection 4) inter connectivity

K-NN ugdmed Categorial Variables Heffet 3icR AISTUIRT DIVIAT gl IToRaA ST ?
a) gHIT f$¥e=7 (Hamming Distance)

b) gereiiera e~ (Euclidean Distance)

¢) H1ged f$¥e=a (Manhattan Distance)

gt S :

1) (a) ?) (a) ST (b) 3) (b) 37T () 8) (b)
Which of the following distance measure do we use in case of Categorial Variables in K-NN ?
a) Hamming Distance

b) Euclidean Distance

¢) Manhattan Distance

Answer Options :

1) (a) 2) (a) and (b) 3) (b) and (c) 4) (b)
T g9 TEUST BRI ?

9) ISl 89 Pridc DUl R) Rfiexen g8 e axur

3) T4 7T R Friae Ul 8) U g9 ST gaell Prige Ul
What is Stacking hubs ?

1) Connect Router to Hub 2) Connect Repeater to Hub

3) Connect Hub and switch 4) Connect one Hub to another

T ST e aRUIIS! @ietietdl Piurd Ret S7ftr Acadmtliel saR Suawvivdidl dag o
B ?

9) Fife Ret Q) FRTHD Rt 3) Jifere—wce Rat ¥) 3Megapve Rt
Which of the following makes the commuication between relay and other equipment in a network

possible, for doing automatin of the system ?
1) Mechanical relay ~ 2) Numerical relay 3) Solid-state relay ~ 4) Overcurrent relay

Wleftetdeh! DIUIT AT T el STId ATal ?

9) TA-YBR 30T fFAIT-TpR ATeH ?) g FRUR ATEH

3) 3UCS F=THS ¥) feRica fevar Hiex
Which of the following is NOT considered as an analogue instrument ?
1) Null-type and deflection-type instruments ~ 2) Indicating instrument
3) Inegrating instrument 4) Digital display meter
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q) R Ale R) TH Yol Al 3) Ty Sgwiad Al ¥) I SYwiad HiS
A Walkie-Talkie operates in ......
1) simplex mode 2) half duplexmode  3) full duplex mode  4) semi-duplex mode

SR FREIT fFAHTITie eafdh FeHidiel HeNURThRAT el UG HRUATT 3flelell FT T I7 TR
LAY Yehedichd Udbe AT T/ AR Jgord URRRITHE Rl IS Ahel HT g AURITIITS!
THIUIEHTE U HETSllel 10 bl QT A1 ... 31T,

q) frepic ?) aue 3) e 8) SeIIT

An organization funded research on networking for the U.S. Defense Department. A major research

project developed a Wide Area Network to determine whether packet switching technology could
be used in battlefield conditions, 1s known as

1) NICNET 2) ARPANET 3) ERNET 4) INDONET

qrpI—cidr ... qeY Terd

q) R Ale R) TH ol Al 3) Fg Sgwiad Al 8) I SYwiad HiS
A Walkie-Talkie operates in ......
1) simplex mode 2) half duplexmode  3) full duplex mode  4) semi-duplex mode

PR ICAPAL IR SR IYSRU § A PRI TN SIS e,

JUEHRO Gop]

a) g i) PYR -Icash T UGV THHBRT SIS0l
b) ot i) g e Jead e

) ITHeX iii) AfEeht (SeT) U PGl FATR POy
d) f& iv) ScT STaesedT qH uTafaor

R SR :

(@ (b (© (@
9) i i v il
Q) i i v il
3) i i v
8) il i v i
Match the following device in computer networking and their function.

Device Function

a) Hub 1) Connectdevices in computer networking
b) Bridge 11) Connect two different networks

¢) Router 111) Broadcast data to every computer

d) Switch 1v) Send the data with shortest path

Answer Options :

(@ (b (© (@
1) i i v i
2) i i v il
3) i i ivooi
4) dii i ivood

TERTY SRTSUTAT WaT (7€ ) / (7T &) =T T84T 2033/ 39



10)

99)

1)

I?)

12)

3)

13)

9%)

14)

For Private Circulation Only

.................. 2 UdbcT MM dodd! f=idr gofad.

) e ?) feferesst 3) gt ¥) greay
................. refers to the variation in the packet arrival time,
1) Jitter 2) Delivery 3) Accuracy 4) Medium

GTefieTidht PIvT e sRIeR 3mg ?

9) AISH g TP AFCd3R 3T

R) HIeH faggd g fRR PRUIR Hed .

3) AleH g Sced RReA 3

Q) AIeH & T Ryyrerern ffieat Rimemed wuiaRdar axd fdhar arear Seice! axa.
Which of the following statement is correct ?

1) modem is a software.

2) modem helps in stabilising the voltage.

3) modem is the database system.
4) modem converts analog signals into digital signals and vice versa.

............ ~cafehT TS, AT FA1e HaTG Bl i AT g AN,
q) AR )W 3) fom 8) Prac
Networking command, enables one machine to check whether it can communicate with another

machine.
1) Netshare 2) SSH 3) Ping 4) Connect

& (LAN) PISd SR A1 PRI 38 ?

9) Hreq Q) .3 . 3) Jedd Praex ¥) Sexc BT
What is the other name of a LAN card ?
1) Modem 2) NIC 3) Network Connector 4) Internet Card

PO FIGATAR SMUTNG FIceRe’] PRI fofsRi &1 aoRet 1A ?
9) PR INT ATTVIRITS TERI

Q) Y WM Hfeaa dmRugre!

3) TR Jaraul)

) 3-SI TP TR IO, ST DR FTHIH Uich AT <l

Why lidars are used in Artificial Intelligence based driverless car ?
1) Car Lane-keep Assistance

2) Blind spot Monitoring

3) Collision Warning
4) Building 3-D map which allows car to detect potential hazards
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(93) RIER T2 9 IR Ufey

I &9 TEUNT BRI ?

9) ISl 8 Priac U] R) RdfexeT &8 e ool

3) B9 3T e diare -l 8) U &9 gl gaeft g Ul
What is Stacking hubs ?

1) Connect Router to Hub 2) Connect Repeater to Hub

3) Connect Hub and switch 4) Connect one Hub to another

Il eh! T WIS kg GRagT MU Hifgdll FHauIRITS! HRIqURh HRUTTT Wletlefden! Biure
Ugde YT R ?

9) foRfdnT Q) TR 3) HITI3R %) TGt

In which of the following ways do some individuals try to defraud to obtain confidential information
by impersonating them?

1) Phishing 2) Spying 3) Malware 4) Spoofing

ST UTHheI AT UhTa dod! UIddetall Ueh AT $—Hof 9T FgUNt B ?

9) A Q) ERRY 3) 9e Q) am
State an unvwanted email message sent to many recepients in bulk

1) Spam 2) Virus 3) Threat 4) Worm
PRI dietid WWWW ot

9) gos dIgs a9 aq Q) dos dIss dve dcs

3) dos dIgs d¥c d9 ¥) dos dIgs fah! o9

WWWW in computer parlance stands for

1) World Wide Web Worm 2) World Wide Western World
3) World Wide Western Web 4) World Wide Wiki Web

Gl &re < T 2

q) VIS HEard! HaeHeiial g o= it Ror

Q) TV STl 1 JRard oaur

3) RIS ForeprEr URiE fosfgon

8) RIeTihT T AT

Which of the following is the role of Hackers ?

1) Theft of important sensitive and confidential information from computer
2) Protect data of computers

3) Write a software program for security purpose
4) None of the above
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q1eT ARISR TRET T AT BIUTRT ufger SMfeRis <o v 3mg 7

9) ORd Q) <fémr eiRan 3) SUH ¥) dae
Which country is the First Asian Country to join NATO Cyber Defence Group ?
1) India 2) South Korea 3) Japan 4) Taiwan

A1fect G PRSI, 000 TT 6ot ... AR, PIUITE! I<hl ST FIUTeh FATURITS! aTaRedT SOt
PIUATE! FUDH Al Digell oA URraaudred] I 7€ IR hdl IGeid, TS T Schiat
TP TRUTSTIT AN A TRUGAS! Al SIAECR 3R

) 8% R) W 3) 3% 8) ¥3

As per section of the Information Technology Act, 2000, any person who destroys or alters any
computer, computer source code used for a computer resource, with an intention to cause damage,

he shall be liable to pay damages by way of compensation to the person so affected.
1) 46 2) 24 3) 34 4) 43

Hifgelt G JAfRIFRM, 000 FHlel T AHidlel RGAT ST Sl

Gaot) GG
a) BT €& i) My ST Murcear SGe-ITe! 3

b) @ € i) SR e g8y H% I {UT <8 fohar STHT
c) AT ¥R iii) T TUTTeTRTE BT

d) B VY iv) Solagid TaeuTd J1eeliel ATfec TamferT w_or
g SR :

@ () (¢) (d)
1) () (@Gv) (i) (i1)
2) (v) @ (1) (i)
3) (i) (@v) (1) (ii)
4) (i) (v) (1) (1)
As per the provisions of offences under the Information Technology Act, 2000 match the pairs.
Section Provision

a) Section 66 1) penalty for breach of confidentiality and privacy

b) Section 67 11) penalties or confiscation not to interfere with other punishments
c¢) Section 72 111) hacking with computer system

d) Section 77 1v) publishing of obscene information in electronic form

Answer Options :

@ () () @)
1) () (@Gv) (i) (i)
2)  (v) (1) (1) (i)
3) (i) (v) (1) (i)
4) (i) (v) (@1) (1)
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qifgdt dsT= BRI, 000 IJTAd UG Aead’ TEUST Ueh fohdr Jifiie AU IRER BHae
GTefIeTidh! PHIumT ATthd 8l ?

a) SYUEET aIuR b) RERIA ATaT TR
¢) ARIEhIdegaT aTR d) FCFS 31 amR

g IR :

q) Weh (a) AT (d) R) Wb (a), (b) 3T (c)
3) Wt (a), (b) 3T (d) ) R Prarg! ATar

Under Information Technology Act, 2000, ‘Computer Network’ means the inter-connection of
the of one or more computers through

a) the use of satellite b) the use of terrestrial line
¢) the use of Microwave d) the use of FCFS

Answer Options :

1) Only (a) and (d) 2) Only (a), (b) and (¢)

3) Only (a), (b) and (d) 4) None of the above
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(9%) IR RIS PRI

QNPT AT Gelred] iSRSl Faitd Uiy Huar] #ed eRuMRT @ietlefdeh! piurclt fofasuorett 3img 2
9) ST ?) AR 3) et Rl ) TR
Which of the following is a Decision Support System for assisting people in taking the best

decisions for their children’s future ?
1) E-Pathshala 2) Saransh 3) Shala Siddhi 4) Swayamprabha

Il - 9 AT Ay — R =T ST bl

TSt - 9 ($-SushH) FTet -  (qusfier)

a) fagm i) Ph.D Weu AToaursome!

b) feiTiax i) ferer garu eRvIrSH Ui

¢) Jrerd iii) STATOY ASTIfep IO FeMerhraT ScIeN

d) amer T iv) Tféfthepe TTaaul, faaRu g Yediesult axua @rUis (Platform)
g SR :

(@ (b) (o) (d)
D @) () @Gv) (i)
2) (i) @(v) (1) (@)
3) av) @) (1) (i)
4) (1) (@v) (@Gi) (1)
Match List - 1 with List-2:

List - 1 (E-Initiatives) List-2 (Descriptions)

a) Vidwan 1) Repository for Ph.D. thesis

b) Digilocker i1) Education portal to facilitate learning

¢) Sakshat ii1) Database of leading scientists and researchers

d) Shodh Ganga iv) Platform for storage, sharing and verification of certificates

Answer Options :

(@ () (¢) ()
1) (@) (@) @[v) (i)
2) () @Gv) (1) @)
3) (@v) (1) () (i)
4) (1) (@v) (@) (1)

wgq (SWAYAM) o qURT (HeThid) ... gl 3TTe.

q9) ¥l g IMTh G AT BR I IRURRIT ATSsH

Q) Tl 958 (Webs) 31 3ffdceg T R I SRURRIT HAeed

3) ¥geue (Student) IS 3ATh 3fFLF AT BR AT A (Ailing) HEsH
g) TSl de (Webs) 3T 3ifdeeg ol BR JY AR Alsed

TERTY SRTSUTIT VT (7 ) / (7T &) T=T T84T 2033/ 3§



3)

4)

4)

5)

&)

6)

9)

7)

8)

For Private Circulation Only

Full form of SWAYAM is ......

1) Study World of Action-Learning for Young Aspiring Minds
2) Study Webs of Active-Learning for Young Aspiring Minds

3) Student World of Action Learning for Young Ailing Minds
4) Study Webs of Active-Learning for Youth Awareness Models

JoMeT $—Teg— fSfegor YR WRBR 3T I5T ABRER fAaRT hoiedT §-HdFTST alRd TS
fhgeen SUaTTS} PivTel FerT RRid deft o 2

q) XfUe sRIHe R Q) T Hewe ghHe R

3) dffT Faomie Rdq ¥) 3NYHIST

Which scheme has been developed by the National e-Governance Division for immediate online
feedback for e-services delivered by the Government of India and State Governments?

1) Rapid Assessment System 2) Program Management Information System
3) Learning Man 4) Open forge

HRA TRPRA .o BRI G hell, ST Jqd IR Aal, Redt, $-3fean, Teg+a, Tem sfear
3. ARG 94 Tl $eice] AT STieed STie.

9) 3-3fea R) $-TTUBR 3) fefrea fean 8) ST e

The Government of India has introduced ............ programme under which all the sectors such as
healthcare, retail, e-India, Governance, Grow up India etc. will be connected through internet.

1) e-India 2) e-Healthcare 3) Digital India 4) e-Grow up India
QIR §0,0000 MBHEY FUMHI RI&TT S0 IfEF ARFTARAT ... IT YeheuTciial 3R

q) fafsar <79 oferm R) fa=m arfe 3) IS ofd TR ¢) ST arfet

................ project of the Government aims to take computer education to 60,000 schools across
the country.
1) Media Lab Asia 2) Vidya Vahini 3)IT Lab Asia 4) Gyan Vahini

TRIGR ATAITST 03 AL =g PR 3MTele] ‘TR’ AT 3, ST 3fRcedg 3Ah cararsi

(MT) oo A, 3l 3 sRecye o Afsdher TR (AIIMS), =t gt ar=an Fear
faemRia el 3.

9) TR ?) feght 3) ai= 8) "G

The ‘SwasthGarbh’ mobile app for pregnant women launched in 2022, has been developed by the
Indian Institute of Technology (IIT) ........... in collaboration with the All India Institute of Medical
Sciences (AIIMS), New Delhi.

1) Roorkee 2) Delhi 3) Bombay 4) Madras

i <f9 Tfdrm = fremrmer S fA9aey TR dhell 31e AT A1d Wleiielden! P ?

q) S SN R) M B 3) ST ISISIESRI)
Encyclopedia of educational content created by Media Lab Asia is known with name
1) gyanjyoti 2) gyan prakash 3) gyanodaya 4) gyanpedia
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foT SnfdT e R g9 R 99e g et SR, il A amfr ..., 3.
9) e JR ST fder g Q) S St A= vy sfear HR

3) St & g INfr €t € eRRae g) e S gorw amfor S & g9

The Department of Science and Technology launched two science channels namely ....... and .......
1) Vigyan Prasar and Vigyan Darshan 2) DD Science and India Science

3) DD Innovation and DD Direct 4) DD Sulabh and DD Darshan

YRR TERT P PIURIT 3 ST /IR 209% T WeiicTidh! Pl M goiagl D el
BAFI Tl oA befl MR ?

9) FASTag ) e-Pass 3) E-ZPass 8) HashTag

Which of the following is the National Electronic Toll Collection System implemented by the

National Payment Corporation of India in December 20197
1) FASTag 2) e-Pass 3) E-ZPass 4) HashTag

HERTY TR 'S TR’ | ATS! DIV STARRIERT A 7 ail e ?

9) e R) 3NUF B BRAC  3) oadide 8) R Fd
Which international standards have been accepted by Maharashtra Govt. for its ‘e governance’
policy ?

1) UNICODE 2) Open form format 3) LEXICON 4) All of the above

IERTY R '3 TN RO iTAssTault euld Sald 3o 19 Piurt ?
9) 3 FIARTMEY Sc-cdl IR Q) $ UMY HiETSel BT ariR
3) g YIRAHED ARIST HIST aroR ) aRicehl PIUKEr e

Which is the main feature of ‘e governance’ implementation policy in Maharashtra ?
1) Use of Internet in ‘e governance’

2) Use of Mobile phones in ‘e governance’

3) Use of Marathi language in ‘e governance’

4) None of the above

TP Goghe IS forexdl feurdHe It o.M, Iiear Ao e, feres Srfor emesd TRk
IAGUIRATS! ST RIS TR el o A1 ... 3TTe.

q) = frar arfef R) 3-fé=m anfeh 3) WER 8) 3-WER

School Education and Literacy Dept. with the help of NIC has developed a system for teacher,
student and school management which is known as

1) Sarva Shiksha Vahini 2) E-Vidya Vahini

3) Sakshar 4) E-Sakshar

AR 95 IIee! ARAT ARRICHT M’ fesfied dride oo Tde TaTdis MadmaT fesies
TRIETT SO TR SRABST JUHH ... RIS

9) E-feg> ?) -0 3) fesit-vves 8) oil-fegedet

............. aims to make the root of Indian society - "The villages" Digitally connected and every

rural citizen digitally literate.
1) E-village 2) E-rural 3) Digi-rural 4) Digi-village
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RIS IRAT SRAUMAT STeRTaT Aafifior fAepry RugRITet IRIAIGR PV AT IEfde! S ?

1) & R) &I 3) T 8) T
Which government scheme is focussed on holistic development of ancient and heritage cities ?
1) HEART 2)HRIDAY 3) HARDIK 4)HAST

feforeat gfeam eraRed = ........ T YR T TR SIHid ugrea ST Saet for
WQTWW:WQEBTWWWW.

q) oo 3T+ faum (NeGD) Q) T ARt 3mfor WA faym (TDDD)

3) YRd IHpsdex Aem favm ¥) AT IRT faqmT

The of Digital India Corporation has created a niche for itself in the area of taking the technologies
from lab to land and "IT for Masses".

1) National e-Governance Division (NeGD)

2) Technology Development and Deployment Division (TDDD)

3) India semiconductor Mission Division
4) My Gov. Division

ST Agch RIERAT ST YT HifRel B I IR hosed] EABIRR ... g Tt
HRAT THIAD TS NS MR o T4 deves AHIY T 38 TRi® SRS Thes WisR for
PSS N BIRET hds UMD B FU DI el

9) FoFe SHRE gEavgst Aol wumelt (NGDRS)

R) AT st

3) P e URIcT 3TSTC i s (ULPIN)

8) TR FrErEr e

As per areport prepared during 2" United Nations World Geospatial Information Congress is an
integrated National Geo-Portal for Governance that act as a single repository for all cadastral
maps and land parcel data and single authentic source of the cadastral base layer.

1) National Generic Document Registration System (NGDRS)

2) Matribhoomi Geoportal

3) Unique Land Parcel Identification Number (ULPIN)

4)None of the above

NME-ICT 37 qof ¥ WISBU! HIorT 38 2

q) e HeM 31 5gHI Y STHHT 31 DrY[Ihe Caidist

R) oMo MM 3 3-Teg = g STPMIT IS HrYThad Caieist

3) Fore oM o 3-PAd Y YD g STHMIT IS HrY[Ihad Caidioit

g) TeFe e 3 S-S g FThMA 318 HIMBI BT

NME-ICT stands for ..........

1) National Mission on Education through information and Communication Technology

2) National Mission on e-governance through Information and Communication Technology
3) National Mission on e-commerce through Information and Communication Technology
4) National Mission on e-learning through Information and Communication Technology
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Windows Azure I8¢ g W Ihddl s ISIERUT 3R,

q) Saas ( (¥dT U AITCIIR) ?) laas (T ¥gUT YR Gfaer)
3) Paas (a1 TgUT wichid) ) Kaas (391 =gUd &)
Windows Azure site is example of ..........

1) Saas (Software as a service) 2) laas (Infrastructure as a service)
3) Paas (Platform as a service) 4) Kaas (Knowledge as a service)

HRATAT feuIdHe 3ifth CfoprgfAicheraar Yegg Hiomic fIfeeq, @ 9@ ... 3Te
9) SARAL ) RMS 3) DOTRMS 8) SARAS
Department of Telecommunication of India’s revenue management system which is online is

named as
1) SARAL 2) RMS 3) DOTRMS 4) SARAS

TR Ufees SR AT JeR 3N RIS~ DIUAT ISATT /DSMRIT TS T hed SR
3R ?

9) Ryehm Q) FHIeh 3) ATy 8) oI
India's First Online Gaming Centre of Excellence is to be set up in which State / Union territories?
1) Sikkim 2) Karnataka 3) Meghalaya 4) Gujarat

2020 T ATDHSISHT I BN T ATBR! BTV HATHI HiY IAGAT FeTH ATedh NTS! & AldTeet
3ffecTeher o e,

9) fraT TeTORT R) foram = 3) fFa™ Fae 8) P "edd

During the lockdown in 2020, the Ministry of Agriculture and Farmers Welfare launched this

mobile application for easy transportation of agricultural product.
1) Kisan Express 2) Kisan Rath 3) Kisan Connect 4) Krishi Network

PIUT TS WIChHH o STHRe @Ick’ AleH G hatl 2

q) gD R) AT 3) foex 8) el
Which technology platform launched the 'Jagruk Voter' campaign ?
1) Facebook 2) Microsoft 3) Twitter 4) Google
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(94) T Sas= S

YR HTfge G- SR are

Eleflel faumrET faaR -1 i ferciier eiurd! Jfadd Siayd 3fed/3Med o oval.

faemT : siieg freror femeieT <aeaT Saean PivcTe! fOpIUET avi-T IR JIguaT! U=l
<d. IR, IR ARIF Ipbls, Ffed I viosrdiad deuiadl oot daR arRuamre!
HMIRID el ST QTehdld.

et :

1) R SeTeaut PRuFRITST femelf Ylg detell Tt Urg_ ereher.

1) 3ietrg fRremr faeneafr rear Arftean det it o < el

I1) hdes HiMfeihgeal g faemell Jiets RATRT SURRIT g AeheTel.

gt SR :

q) weh 1 AR ome R) ek 1 Snfr 11 siafifed amed

3) W 1 30T e Sidfifed ared 8) |4 1, T anfor IM1 siafifad simed

Consider the following statement and decide which of the given assumptions is/are implicit in
the statement.

Statement : Online education allows students to attend classes from any location of their choice.
Additionally, online lectures can be recorded, archived and shared for future reference and later
use.

Assumptions :

I) Students can view the recorded content for revising the lecture.

IT) Online education does not allow the students to learn the content at a time of their comfort.

IIT) Only geographically distant students can attend online lectures.

Answer Options :

1) Only I 'is implicit 2) Only I'and II are implicit
3) Only I and IIT are implicit 4) All 1, I and III are implicit
IRT HYF /A 35l

37) gU Y fIe STIShR oeR’ SHRTATAT URATaTel HeRTY AEHS®H 2039 AL wodl féeft T,

) SIENRY SR e MIShR @R A& Udheurdl Sel HeRIEdel femeained denfe gt
eI 7T IR,

it SR :

9) Beh 3T ) Bh § 3) T § el ¥) TR AT

Select the correct statement/s.

A) The Maharashtra Cabinet has approved a proposal to set up a ‘Science Invention City’ in Pune
in 2021.

B) The project, named Balasaheb Thakre Science Invention City, aims to promote scientific temper
among students in Maharashtra.

Answer Options :
1) Only A 2) Only B 3)BothAand B 4) None of the above
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TR e AT TEwH o 3IgaTe DIV eI HRUATd 3Tt ?

q) gRmRhR R) R 3) o 8) st
India's first gold ATM has been inaugurated in which city ?
1) Varanasi 2) Hyderabad 3) Lucknow 4) Kochi

T Sl HRATT eifch TRAfshadl MY are FTell. Jsifcd ereifshial SWOT fagersumed

9) AT IO FehROTE STTserdT

R) "IN YRA’ ToFH® IEIfedh RAfRI FvedT BHl gleel

3) YIS [daueh AT 3Mfereh el &

¥) YR JIhT R areed

Last decade saw an unprecedented growth of robotic surgery in India. In SWOT analysis of robotic
surgery what is true except......

1) Availability of large number of cases

2) 'Ayushman Bharat' scheme will reduce number of robotic surgery

3) Huge investment and more recurring cost

4) Medical tourism in India will increase

g e/ e,

37) ARG BHGH 91 HIgHG Tt 900% UTR faRfe PRUIR Ga1S § STITCiTe Ufee AREPIR OReh 3118, 312 Hyum
Pl

) RRCORIHITTIS e Fd ISR HaT SUBeY aciie M gos 7L 33¢ ffosas danm SiRa
PBAICHET IR FH BISe.

gt SN
9) Heh 3T AT 3TR. ) Teh § I 3TR.
3) faum o1 9 9 gl AT 31T ¥) fOR 31 9 9 et SRR 3.

Select the correct statement/s.

A) Sheikh Hamdan bin Mohammad announced that Dubai became the world’s first government to
turn 100% paperless.

B) The digitalization will provide all Govt. services to customers and reduce paper consumption
by more than 336 million papers in Dubai.

Answer Options :

1) Only A is correct. 2) Only Bis correct.

3) Both the statements A and B are correct. 4) Both the statements A and B are incorrect.
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(9¢) AFE IRR HuTTett

AT HEAT

T AT

AT AT

Th, BIERTIRRY g §qT

Y g et

3| HeAT

FRISHT AT

.......... 7 Ueft IRIRROT RO vefined) feverigTa W | 37Ted.

q) TRURATZSH R) formraTEed 3) SIfthesd 8) ~gfthed
.......... are the chief source of histamine in the circulating cells.

1) Erythrocytes 2) Lymphocytes 3) Basophils 4) Neutrophils
YR JATFeTgeh VU TRd aTgeh e ........... g Sl

q) ARG Q) IfeH 3) ifed g) 3fesgfi
The major carrier protein of acidic drugs in the blood stream is ...........

1) Globulin 2) Keratin 3) Ferritin 4) Albumin
......... g Adl eRRIA I fARealcdigs 3.

9) IR 2) TSR 3) PIfeAA g) 3iger
......... is the main mineralocorticoid in humans.

1) Serotonin 2) Aldosterone 3) Cortisol 4) Androgen

q) A ?) Ui 3) BrfsioF ) TR
The substances involved in the control of platelet production s .........

1) Plasminogen 2) Thrombopoietin 3) Fibrinogen 4) Erythropoietin
CATSHT SIMYT MAUITE €ch Plgd cldbel SN Tel ... TEUTIT.

9) forh Q) Rmm 3) TSI ¥) Telcele
Plasma from which the clotting factors are removed is known as ...........

1) Lymph 2) Serum 3) Plasmin 4) Platelet

gt & Wiellel Tchicdl FISTUTATS! JMaeTDh 3MTg esdT:

9) thaex IX JhaR X 3) %haex 111 8) thaex 11
Vitamin K is essential for the synthesis of the following factors except :
1) Factor IX 2) Factor X 3) Factor III 4) Factor 11
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URURATSE fS&pal SR ... 3TTe.

q) feafedshr R) Sl 3) S 8) feaidsht
The shape of erythrocyte disc is ...........

1) Biconvex 2) Concave 3) Convex 4) Biconave
GAtheRT AHHUITEAT &FTciiel hierepredl YT ... AT AfRIGR ST,

9) Decussation R) Dysplasia 3) Deglutition 8) Diapedesis

Neutrophils squeeze through the capillary walls in the area of infection through a process
called...........

1) Decussation 2) Dysplasia 3) Deglutition 4) Diapedesis
FANCT UFeR, TR IX 3Ll ... QU 3@ Sl

q) T R Q) T R

3) oifdel R ) ¥CIC UIeR Jarex

The clotting factor, Factor IX is otherwise known as ...........

1) Christmas Factor 2) Hageman Factor

3) Labile Factor 4) Stuart Prower Factor

g 3 7 o e

q) fewfiRar ?) Ugard 3) MR g) aiferat
Herd immunity is not seen in

1) Diphtheria 2) Tetanus 3) Measles 4) Polio

All are absolute contraindications of oral contraceptive except..........
1) Hypertension 2) Active liver disease
3) Hypertriglyceridemia 4) Previous stroke/Thromboembolic event

Qe ASATRET aRgHTTRAT AHIRA BRUTHE qesd] e AT ST
9) REMT ?) URRIES TG
3) eRIeET 8) RIS

The common cause of anterior mediastinal mass include all except
1) Thymoma 2) Thyroid mass
3) Teratoma 4) Neurofibroma

HerT gieers sifmifes fsarifemem Rigaeh afdrsd awresar wd Ioifaw 3med.

q) feau ?) feamdfan (sietvara areamn)

3) ferenfoar ¥) SRIFCIRT

Features of central pontine osmotic demyelination syndrome include all except.

1) Dysphagia 2) Dysarthria (Difficulty speaking)
3) Diplopia 4) Dystonia
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WHO =7 qd TRICRUUITT 31hUUN Fgurst fRAelfed ... J1/900 ml féber TR BHI SRACTHL.

9) R 49/900 fireft ?) 90 ¥H/900 feft

3) 99 7|/ 900 feft 8) 93 ¥9/900 el

According to WHO anaemia in pregnancy is when the haemoglobiniis ........ gms/100 ml or less.
1) 9 gms/100 ml 2) 10 gms/100 ml

3) 11 gms/100 ml 4) 12 gms/100 ml

JEITAT AT AR HIEX R TaITaT Wiefiel TR 81> 2rbal ?

9) ERRA Fhae™ R) INSIEEPeR IATETT

3) WIS RAfRI=IH g) U SN SR TEAHICTI

Lower Motor Neuron paralysis of facial nerve may occur in following conditions except ?
1) Viral infection 2) Cerebrovascular accident

3) During parotid surgery 4) During CP angle tumour surgery
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(99) ATISIAD SRR 3O AT

AR g HRSB Th
AT g STIR
TR PRIHY

TP AHGIRIE IR 3 ... PRI FHTIL PR

9) 3,00,000-4,00,000 Q) ¢0,000-9,20,000
3) 40,000-190,000 ¥) 20,000-30,000
One Community Health Centre covers a population of .......

1) 3,00,000-5,00,000 2) 80,000-1,20,000
3) 50,000-70,000 4) 20,000-30,000

Ter-1 wefter A 3o Aet-11 7efieT SR pleaddt faaRe €.

&1 () I1St-11 (SR HIae)
A) MR 9)-30-9¢o0 feas
B) fewefiRan ) 90-4o feaw

C) federidsr A 3) 90-9% feaq
D) fRUeridN B ¥) -¢ feasT

ETeficTidh! AR SIeuft POTH ?
IR SR :
A B C D A B C D
M EREAESE ArSEAEIE
A B C D A B C D
3) 4 3 1 2 4) 3 4 ] 1

Consider the diseases in List-I and incubation period in List-II.
List-I (Diseases) List-II (incubation period)

A) Measles 1) 30-180 days
B) Diphtheria 2) 10-50 days
C) Hepatitis A 3) 10-14 days
D) Hepatitis B 4) 2-6 days
Which of the following is a correct match ?
Answer Options :
A B o D A B C o
DIsTal1 ] D[aTs 2]+
A B C D A B C D
3) . 4 g 1 2 4) 3 4 [ 1
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PIfTS-9R TS MBI delem FAT MOHFW ARiGee TRaigiIR vl QHMIET SRS
BIGEKIRSICIN

9) -30°C ) -g°C 3) 34 ¢°C ¥) @i J9q=

The specimen collected for COVID-19 testing should be transported to the lab at what temperature
as per MOHFW guidelines ?

1) -30°C 2) -4°C 3) 2 to 8°C 4) Room temperature
TS & o TSI TR 37TR,

q) Hreafe Q) Ui 3) UQRI 8) AFYT
AIDSisa.......... immunodeficiency disease.

1) Secondary 2) Primary 3) Tertiary 4) Quatenary

q) it ?) TelaerRfaT 3) Jerafrr ) RIpet | ST
............ is an inherited disorder of galactose metabolism.

1) Anemia 2) Galactosaemia 3) Thalassemia 4) Sickle cell anemia
ST Wil gl STSIR DU RraTean FTige giar ?

q) Wfthellpld ITR3RT ?) el WRSYRRT

3) TEPIhd TR 8) AT TSIt

Whooping cough disease is caused by which of the following bacteria infection ?

1) Staphylococcus aureus 2) Bordetella pertussis

3) Streptococcus pyogenes 4) Salmonella species

............ g 3ilvY e HARIT, TRl IR Hoa! JAiged] SibleR d§ .
) TeATEIsed Q) IMfusrsed 3) Arfth ¥) PIPI—3chellgsy]
............ are drugs which bind to receptors present in central nervous system and gastro-intestinal-

tract.
1) Cannabinoids 2) Opioids 3) Morphine 4) Coca-alkaloids

I JIeT FeHia Wiefler ™ faRId €2, it BIvr /g Sed ?

a) TSI JgaT AT HGY TSI FTSFAT ST aot1el SR

b) TSI Jo R AT THURUT Fanel AT Mg SAHL S gl

¢) TS STeTepd] JegaT JATsen deaifires fRucel STaesar A9y 31T,

d) SR 3M$d 9T 94 T 9§ IUIAT I 3RIeT TR TSI Jegd HHI0T BHT ST

i SR :

9) a 3T d wh ) b 3Mfr ¢ Heh 3) a, b 3T ¢ Hh %) a, b, ¢ 3mfor d
Consider the following statements with regards to neonatal mortality. Which of them is/are correct?
a) Neonatal mortality is directly related to birth weight of the newborn.

b) Neonatal mortality is directly related to the gestational age at which the birth take place.
c) Neonatal mortality is closely related to the educational status of the mother.

d) Neonatal mortality is low if the mother's age is between 15-16 years.

Answer Options :
I)aand donly 2)band c only 3)a,bandconly 4)a,b,candd
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Glefledht P PHC T bR 18 ?

9) JgDHT T ) FP 98 MCH
3) HEETrAT JMMpSaRId Hehe M7 3TgdTed Ul @) WIKd AEfsha
Which of the following is not a function of PHC ?

1) Medical care 2) MCH including FP

3) Collection and reporting vital statistics 4) Major surgeries

91g AR MDSR =S &1 ?

q) HIAT §g T Saul ST HicRiTe Q) I g, AU SMOT garet
3) HIAT g uTesd Saul ST GRRTEct 8) HIT GG JARIGeAD TTTett

What is MDSR in Maternal health ?

1) Maternal Death Surveillance and Response
2) Maternal Death Survey and Report

3) Maternal Death Surveillance and Review
4) Maternal Death Review System

B GAHR S9Y 8l S8 JAUAlG Fesdl Fehe Blall.

q) It 30T dicgw! R) ST diercrar ™

3) MY SN RRIASTHA A& ¥) RIS
Dengue in children mostly manifests as a except .........

1) vomiting and abdominal pain 2) low grade fever

3) confusion and neurological symptoms 4) thrombocytopenia

SRATPAGIIT JCI BHI FRUIRIST T GR&T Tehforee TURISIT ST, TURIOAT hef hadl ST ?

q) el uATSATER R) Yol cuangdf
del dR <oyt Edell IR uaTgE
UM STRIST 9 Areuargdy <] G PRUATYE(
3) iy g) DA AR HHALY FATUATST
TR IROT RuaTgat TRT PR
T §C PR BT RIS T ArSuaTgd

WHO safety checklist checks are carried out for reducing errors during surgery. When are the
checks done ?

1) Before induction of anaesthesia 2) Before induction of anaesthesia
Before skin incision Before skin incision
Before patient leaves operating room Before skin closure
3) Before consent 4) Before shifting patient in operating room
Before induction of anaesthesia Before incision
Before skin closure Before patient leaves operating room
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8 DI Peard JodTdiell PeaIRdlen drd 371 Wihell 3Tell. 8 fearedT IRMGR, Tl g
M i e foRgT aTrefl. ufeedr el Joard Sfll §AR) S G B0l R 8 e @
PlIeTaeft /AR ... I Iq9 guiF et IR,

q) HUSUTFET Breraeft R) IFPPHID HEAR

3) SSHRI Ples y) ffcT de

In a family of 4 people, initially head of the family got fever and cough. After a gap of 4 days, his
younger son showed same symptoms. This time period/interval of 4 days between onset of first
case and initiation of second case is best described as ..........

1) Period of communicability 2) Serial interval

3) Incubation period 4) Generation time

N FRIeledT hieal glerdTeiied FaIa=ared] Fiel, Ml Jaid UeE MM ISR Hiaaeiame
FUIdId.

q) ST Q) 3T Jaur 3) SIfrgE 8) G

The limitation of freedom of movement of non diseased persons, for a period of longest usual
incubation period of the disease is called as

1) Isolation 2) Quarantine 3) Notification 4) Monitoring

q) fig-drd Temrl R) IHFI—-WI I HgMRI

3) TRAIRG AR 8) Eages HEMRI

An epidemic of hepatitis A is an example of .......

1) Point-source epidemic 2) Common-source continuous epidemic
3) Propagated epidemic 4) Slow epidemic

SRR FRIER FNpe TR PR IS UITGIIR, WieTieTh! DIUd oIS g8e1 WX 3ME ?

q) fUg®T — HHIT BHT T R) e — moribund

3) feRar — wwmarES 8) Fr - g

According to internationally accepted four colour code system, which of the following is true
about triage ?

1) Yellow - least priority 2) Red - moribund

3) Green - ambulatory 4) Blue - dead

R Hiswhat siifee o FRierr sxvgrea {ifdy ugd FaaedT. Wiefietids! iord! RIS dgd e
fRrepuarea Wfies deumaR SMETRA MR 2

9) PEER TREAGA Q) Wfcriel Haur 3) cefuT ¥) fay ameTRa arifse
Harrison suggested different methods of monitoring of "Medical audit". Which of the following

method of monitoring is based on the primary idea of learning from mistakes ?
1) PEER review 2) Sentinel cases 3) Surveys 4) Criterion based audit
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IR JGT YUMAHED UISHTcHD, STARICHS SO McATE T d, SUARIHS 31T NcATg TS A
SEH gfIT DIV AR ?

9) TITHar R) SUCTeY

3) AdAHTALDBAT ) TRIT

What is the optimum unit of preventive, curative and promotive, curative and promotive service
in Health Care System ?

1) Adequacy 2) Availability

3) Comprehensiveness 4) Appropriateness

T ANRiRee RISt Heferd afdrsiear faaRumT S1RT =OT 3Mfor o dfdrsnieht Fefea A
SNICAEIRECRCIEG R

9) qIfeRviT HEMRY fasT= Q) TR TS

3) faecivuncas HEMRIfasT= ¥) quiHTcHS AEMRIfASTE

Studying distribution of health related characteristics in human population and identifying the
characteristics with which disease seems to be associated is....

1) Ecological epidemiology 2) Experimental epidemiology

3) Analytical epidemiology 4) Descriptive epidemiology

AR, ERTReRIE bl . Fer

) GEATRIS! 30T YITPRICT WITA Q) FHEE MM CURS /puiaRict qHTT

3) FhTedt AT GITRRICT qHTI ®) T 3T Shdet/ HTTRIST WIS
Characteristically, a "hypertensive headache" occursin ..........

1) Evening and in occipital region 2) Morning and in termporal region

3) Morning and in occipital region 4) Night and in frontal region

R HEgH ISR Pleffah o BRI ?

9) fFfdfh 9 R) TH MU R

3) a0 RGUIRITS 40% BN ANUIRT dob Q) gD Prarar e
What do you mean by median incubation period of the disease ?

1) Generation time 2) Secondary attack rate

3) time taken by the 50% of the patients to develop the symptoms 4) none of the above

.......... P A ApIfed gt afirsd ared.

q) HRgRAT Q) o

3) ERIRBIRCRICHIT 8) R
All are features of nephrotic syndrome except.

1) Proteinuria 2) Oedema

3) Hypercholesterolaemia 4) Hypotension
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) URRICHPIDIRRT Q) AGA Raficer

3) RIS ¥) Heredr fifeem
Water-Hammer pulse is not seen in ........

1) Thyrotoxicosis 2) Mitral regurgitation
3) Beriberi 4) Aortic regurgitation

............. ST T I el hegeRd A amed

q) 3MIHYUT Q) I Thed
3) TEM BRI FUS g) TlctigiRaT
All are features of chronic renal failure except

1) Anaemia 2) Hypertension
3) Small size kidneys 4) Polyuria

PIo ' 3fefihe’ Fersiianie TG FHe” ~AIIRRG gl
q) HRIICATSHT =T R) TP FHIT

3) Wfthellplpd IRIT g) feriftherT S oreet

The 'Atypical’ organism causing community acquired pneumonia is

1) Mycoplasma pneurmoniae 2) Streptococcus pneumoniae
3) Staphylococcus aureus 4) Hemophilus influenzae

q) ST T4 R) Hfthdr HREIHD IURT

3) wicelc AN ¥) SN T

The best available method of Dengue fever control in community is...

1) Dengue vaccine 2) Personal protective measures

3) Platelet transmission 4) Mosquito control

ERTellet T, GO & PR el ~

) PUGHIET BB §) AT ®) SRR g) U
RITIH! DU I SRR 3R /31 ?

9) Weh 31 Q) Wh § 3) 31, M PH Bheh  8) 3f, &, H MU S
Indoor air pollution causes -

a) Lungs cancer b) Pneumonia ¢) Tuberculosis d) Blindness
Which of the statement given above is/are correct ?

1) aonly 2) b only 3)a,bandconly 4)a,b,candd
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(9¢) 3 3mfor o=At

R D G-I (BIS) GR RFICHAIST Upul TDS ATS! fivaredn arogrlt #eh iorclt S el
3Teat ?

9) AT gooo-yooo I /ferex ?) AT 3000-yo00 I /ferex

3) @I 000-3000 I /fotex ¥) TDS Q000 ¥ /fofex

What are the drinking water standards specified for total TDS by the Bureau of Indian Standards
(BIS) for unsuitability ?

1) TDS 4000-5000 Mg/litre 2) TDS 3000-4000 Mg/litre
3) TDS 2000-3000 Mg/litre 4) TDS upto 2000 Mg/litre
TR Die<dl Aol Fe3RaIge TG .......... SIIett ST,

) URSReT ol ) SCRINSIAT SO

3) SIPISATD SoFe ) SCADhel SO
.............. are made into subarachnoid space that surrounds the spinal card.

1) Peridural injections 2) Intracerebral injections
3) Intracardiac injections 4) Intrathecal injections

GIHITIRIT TR HGEUITRATS! DIV UTcies UqTef aTuRaTd ?

q) farfmica R) Tferawd 3) fetaed g) TR
.......... are viscous liquid oral preparations that are generally prescribed for the relief of cough.
1) Liniments 2) Elixirs 3) Linctus 4) Gargles

......... PleHeDE Had Hea, Ml GABA URA gAffecyl FaRESs dreen afiey seams,
yToTETaes foR gl

q) PEHS R) TATHRIC 3) SHHBRH ) URRATSS

The ingestion of ......... insecticides causes lethal action by inhibition of GABA mediated inhibitiory
chloride channel.

1) Carbamate 2) Glyphosate 3) Organophosphorus 4) Pyrethroid

) BTAIa ST R) SHHRIEfeMEH

3) HeAE 3) <

The synonym 'Angel Dust' is referred by addicts for .......... drug.

1) Phencyclidine 2) Dimethyltryptamine
3) Mescaline 3) Tacrine

TefleTih! DI AT SAIPIET I HEUuar BRUMYT e ?

q) BRI ?) ergrsT 3) TS 3) FellerE
Which drug among the following is known to cause respiratory depression ?
1) Phenothiazine 2) Levodopa 3) Strychnine 3) Clonidine
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AR Tpmelager TR RIsRT ... T Fehedrel gEt uard rugelt o,

q) SFmeE R) RuE

3) i1 acHT 8) I AT

Receptor macromolecular perturbation theory fails in substantiating the concept of ..........
1) Agonism 2) Antagonism

3) Partial agonism 4) Inverse agonism

=1 3ffdceg B Fial cliaaTdl (GAfced Ud sRciel AM-3fUsiss SHTeoIRID 3Ny ...

RECIRICES R) e 3) gHAFRIE D ESEIE
The non-opioid analgesic Which is a synthetic copy of neuro active con snail toxin is .........
1) Ziconotide 2) Fentanyl 3) Duflunisal 4) Etodolac

3 RIgm QUaTET el SRICUTes BV SHY el ST At ?

q) IFfRT R) Jfersd 3) SSHAIRE 8) HERIeH
The drug which is contraindicated due to the possible association with Reye Syndromeiis ..........
1) Aspirin 2) Sulindac 3) Indomethacin 4) Ketorolac

q) eIt ?) FC 3) SHfeRbRA 8) IR
One among the following drug is a direct renin inhibitor
1) Trandolapril 2) Irbesartan 3) Aliskiren 4) Fosinopril

EREERECER RGN L R qETH YT B FATIERI RN

q) IRyfecrem Q) AfreteH 3) PRI ¥) IfffaTse
Drugs having hydrazine residues are metabolized by getting conjugated through ....
1) Acetylation 2) Methylation 3) Glucoronidation  4)Oxidation

Grefleh! PIUAT Ueh HIT & TaRiegR 3iiwer <ugram qnf gefadr ?

S ESIBER Q) S 3) g=geHe 8) gele
The enteral route of administration depicts one among the following route.
1) Intrathecal 2) Buccal 3) Transdermal 4) Inhalation

Wrefledh! P RegRiser deme gafefier vy sfesamR AT STEIRMIST aTRel S ?
9) e Q) TelemTsT 3) Rarffemrga ¥) SUf3TeT

Which among the following drug is a reversible carbamate inhibitor used for the treatment of
Alzheimer disease ?

1) Tacrine 2) Galantamine 3) Rivastigmine 4) Donepezil

RAcexudt srfarss smepdur onfor S=1 3riaRe fharemdr 3rieiel 3w Tt ...

9) Ifmfe Q) faRueht 3) 31 sfmfe ¥) Il IMRe
A drug with high affinity for receptor and high intrinsic activity is a/an .......
1) Agonist 2) Antagonist 3) Partial agonist 4) Inverse agonist
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Wieitel siweidl fRehe & fRiedt sffiemisifee mgum -
9) TAITaRA ) SecuRA 3) IRBRA ¥) gafRT

One among the following drug is a Vitamin K antagonist anticoagulant.
1) Enoxaparin 2) Dalteparin 3) Warfarin 4) Heparin

WTeflel FuTedd! Hivr 3wy Reftear efear fidmed e i ufey awa ?
q) et Tg~T ?) Ui 3) Ufhife=T EEIS

Which drug among the following antifungals act by inhibiting the formation of glucan in fungal

cell wall ?
1) Allylamines 2) Polyenes 3) Echinocandins 4) Azoles

QU= qTUaTd FARTSST YHTUT SR SRAeI™ JTRIITER BRI URUIH gidid ?

9) PHHAT 3TIR ?) BRI 3) TARIR DEEIRL

What are the health effects of excess fluoride content in drinking water ?

1) Lung diseases 2) Heart disease 3) Fluorosis 4) Skin diseases

SifcHT TR ... ] IYARNIS! JTIRuATE RIBRE el S

q) TfTheraR R) BRI 3) ReiffrRig 8) aRieTh! Pratel el
Antimony compounds are recommended for the treatment of

1) Elephantiasis 2) Fasciolopsiasis 3) Schistomiasis 4) None of the above

q) I-3fca AlosRafoasd ARTS R) siI-gUrse Hlosifesen 3iRAS

3) si-fhemse AfsRifed RS g) M-sgiisel AlsRifsD RIS
Chemical name of aspirin is

1) O-Acetyl Salicylic Acid 2) O-Ethyl Salicylic Acid

3) O-Methyl Salicylic Acid 4) O-Benzoyl Salicylic Acid

uif3feeg e BRI BRals HRM! 2

q) THYRUT J& a7 3T Arar Jeldt ST St SR &1

R) THYRUET derchid AHTHT 37T N Aedel hedieR dTef oaul

3) THYRUT YTead AAARUT F& ST

8) THURUT JH a1 AT JRIgeic adier Faa o

A twenty years old lady has taken two doses of quadrivalent vaccine against HPV. Now her urinary
pregnancy test is positive what action to be taken ?

1) Continue pregnancy and take next dose of vaccine when it is scheduled

2) Medical termination of pregnancy and continue vaccine when it is scheduled
3) Continue pregnancy stop vaccination

4) Continue pregnancy and switch over to bivalent vaccine

TERTY SRSTURT W4T (T ) / (T &) T=T T&T 033/ 48



R9)

21)

RQ)

22)

3)

23)

W)

24)

)

25)

For Private Circulation Only

RTERT &RRIT e PRisH (NTEP) TAR THaRIc! /et Fgaift ShaTehallu T Scehe dRUIRITe! T @
AT ... AT Fa 3T,

9) g et Tepor emeror ?) CBNAAT/TrueNat 3T IR

3) It ufcEeTcrs IR g) St 3T TasTReE i @

As per National Tuberculosis Elimination Programme (NTEP) key interventions to strengthen
HIV/TB collaboratives activities are all except ............

1) Intensified TB case finding 2) Use of CBNAAT/TrueNat

3) TB preventive therapy 4) Notifying TB and HIV

. IR AT FRUTaR SUARRIC! SUART JU5dh PRI A ?

9) ACT + Primaquine R) Chloroquine + Quinine + Doxycycline
3) WRIRCHIA + FARIPH 8) eIl Prarel el

What is the treatment schedule for treatment of uncomplicated P. Falciparum cases ?

1) ACT + Primaquine 2) Chloroquine + Quinine + Doxycycline
3) Paracetamol + Chloroquine 4) None of the above

TR FAIPRUT ABTIADI DIVTT INTRATS! ARATRROT FHIAE ATal ?

9) MR ) JE 3) Pertussis ) TMere
Under National Immunisation Schedule for which disease vaccination is not included ?
1) Measles 2)JE 3) Pertussis 4) Mumps

~gHIhIhel AT & (PPV 33) @ietietddhl PIvieT TCRITS! IR dhetl I 2

a) R JuRETIS Hel b) ST RicheRial STTR 318

¢) ST TeiHaeH! dhefl 3T d) S TeSiIE eledl &enl

qRf I

9) Bh a ) a 37for b Heh 3) b 3Mfr ¢ Beh %) b, c Mfor d &h
Pneumococcal Pneumonia Vaccine (PPV 23) is recommended for which of the following groups?
a) Children under 2 years of ages b) Those who have sickle cell disease

c¢) Those who have undergone splenectomy d) Immuno compromised individuals
Answer Options :
1) aonly 2)aand b only 3)band c only 4)b, cand d only

SIS SRRMRIS! ShgeR IRUT FgUT Wieflel Yl AR STIard

q) der R SfARP SAMfRT R) Sicipiferfoien

3) STeeS dlichINCIsS ) BRSNSy
Following is used as controller therapy for bronchial asthma

1) Beta 2 adrenergic agonists 2) Anticholinergics

3) Inhaled corticosteroids 4) Phosphodiesterase inhibitor
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Mo fegger Oifordt refieiidh ot erfi=T e gl ?

a) st b) feverid B c) S d) MeR/MR
gt SR :

9) a %h ) b 37Ul ¢ wh 3) a 3mfor d wh ¥) ¢ %h
Open vial policy applies to which of the following vaccines ?

a) BCG b) Hepatitis B c) DPT d) Measles/MR
Answer Options :

1) aonly 2)band c only 3)aand d only 4) c only

ST SRATAIG o Faeft Wiefierdl PIurd e T 37Ted /3ied ?

a) URC TTUSR Wifthelfad™] & hedHoR Aad [IdadT dadx Uherda UeRid el ifeol.

b) g |4 SkauaT 3ol fohar AU Ui del UTfet.

¢) 3MAH TR e HeMRId axuaTgdl rar araull JRATITS! PIve! dfedh SR AT,

d) 31 NEeT el ufgen sRT feeamaR 9y feah @ fihet TemRid del SIS 1.

Tt S :

9) %eh a ) a 31l b wh 3) a, b 37O d Hh ¥) a, b 37T ¢ Hh

Which of the following statements regarding rabies immunoglobulin is/are true ?

a) If should be administered only once as soon as possible after initiation of post exposure
prophylaxis.

b) It should be administered all into or around the wound sites.

c¢) There is no scientific ground for performing a skin test prior to administering required
immunoglobulin.

d) It can be administered fill 15 days after the first dose of anti rabies vaccine.

Answer Options :

1) aonly 2)aand b only 3)a,band donly 4)a,band c only

UcTegeic o Wlefierdh! IuredT JMYRIT FR&0 ol 2

q) feeefifRan, Ui, &R, MeR onfYr federad «ff

R) feweiiRan, v, focw, federdr &t smifor Taemet

3) fewhifan, Ui, MR, fRdericRT &t onifr dder

y) fewefifRan, v, MR, fedcc &t amftr qaeme.

Pantavalent vaccine provides protection against which of the following disease ?
1) Diphtheria, Pertussis, Tuberculosis, Measles and Hepatitis B

2) Diphtheria, Pertussis, Tetanus, Hepatitis B and Hib

3) Diphtheria, Pertussis, Measles, Hepatitis B and Rubella

4) Diphtheria, Pertussis, Measles, Hepatitis B and Hib.

Ivermectin ITedT ScR Fd IUARTATS! TR ST

9) @O ?) PR 3) WATRARSHR  8) TRhRATRN
Ivermectin is used for treatment of all except
1) Scabies 2) Schistosomiasis 3) Strongyloidiasis 4) Ascariasis
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(9%) 371 JATOr U7 — 5, [aH, WA, S

TR HHRIES PIRISARDR T Bl

9) 99 4 ¥ qEerder To 2) 33 7§ FEerde o
3) & d ¢ a¥ FNErdel Jol 8) T ¢ a¥ gINCIlet Jel
Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years
3) children aged 6 to 8 years 4) children aged 2 to 8 years

ST goh R Siaria fheRa =TT PRI IRARG g b SMER feell Sl 2
9) IFA C&ele (£0 mg TCH g + 400 mcg Piferd 3IRTe) ATHIRS

?) IFA <&ele (900 mg Ted allg + 400 meg Hifeld 3HRS) TR Higw=aTen

3) SRS 9 IFA Swie

8) I PIEE AT

Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what
frequency ?

1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly

2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet

4) None of the above

U ¢ JufEl Afgel U IS PR 3R, ot 3 Aigaredl JeTRig R PRURT 3778 318, Hiciied
fepetIcheRISTeaT QXdTa foretl Sierel Grord) TIRST- TeileTidh] DU 318 ?
9) 9400 kcal /feasa ?) Y0 keal//faw

3) Y00 kecal//feas ¥) 30 keal//feasa

A 28 year old woman is a sedentary worker. She is a lactating mother with 3 month old child.
Which of the following is her approximate energy requirement in farms of kilocalories per day ?
1) 1500 kcal/day 2) 2250 kcal/day

3) 2500 kcal/day 4) 2830 kcal/day

e SRR TR € A& SHH aaredr dieniet WHO 3ot UNICEF gR fadt 31
Afcericdt fhRe Peft ST 2

9) 90 feeHRIS RIS R0 ety ?) 90 RIS SRS 90 el

3) © oo y o wiffe ®) © e & A wifcifes

How much zinc supplement is recommended by WHO and UNICEF for infants less than 6 months
of age after an episode of acute diarrhoea ?

1) 20 mg per day for 10 days 2) 10 mg per day for 10 days

3) 5 mg per day for 7 days 4) 6 mg per day for 7 days
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TERTY HREHT 9, 983 TR, TP SR SIRRNC! fUUIreaT qudre JH1v HREITT

BRI 3] YD HIERIATG! T g 3RTel UTfeot 37T 3T YosTel i R
EST JUeY 3R SN

q) 9 ferex Q) R forer 3) 4 forex g) 3 foreR

As per Maharashtra Factories Rules, 1963, the quantity of drinking water to be provided for the
workers in every factory shall be at least a day per worker employed in the factory and
such drinking water shall be readily available at all times during working hours.

1) 1 litre 2) 2 litres 3) 5 litres 4) 3 litres

9) enfe ) Irifesm 3) fifeea ¥) IR
Dipeptidyl peptidase [V isa.......... protease.
1) Threonine 2) Aspartic 3) Cysteine 4) Serine

Wlefiefidh! PV Siig—d JMfarasa UfEfRd axuR 3 ?

q) St U ?) StaT €t 3) StaRFa g) Sta™fa &
Which of the following vitamin acts as a anti oxidant ?

1) Vitamin A 2) Vitamin D 3) Vitamin E 4) Vitamin K
Tefier Ml Sjesar T IR i FHasT -

A) Vit. Bl ) ERREERRER I

B) Vit. B3 D) SRS

C) Vit. B6 1) SACD

D) Vit. B12 IV) St

gl S :

A B C D

H I mM NV I
2 1T IV I I
3) V I I I
I I

4) IV 1
Match the following and select the correct option :
A)Vit. Bl I) Hyperhomocysteinernia
B) Vit. B3 II) Beriberi
C) Vit. B6 1) SACD
D) Vit. B12 IV) Pellagra
Answer Options :
A B C

HD I m v
2) T IV 1
3) IV I I
4 IV 0 I

EFRETC
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GTAIAUDT DI IR R Ih gRITRCMT ¢l HH TRUIT Ad o b ?

a) SMERTS AT Hor W= BHHT o, b) IIER aoi AT a0

¢) Hfehep SHamdielid Igd d) drEt MRS Morar amR.

g IR :

9) a 37fT b Hh ?) ¢ 31for d weh 3) a,b 3T c Beh  ¥) RIcdD! Prald el

Which of the following measures can help to reduce the risk of systemic hypertension ?
a) Reduction in dietary intake of common salt. b) Controlling weight for age

¢) Modification of personal lifestyle d) Use of oral contraceptive pills.
Answer Options :
I)aandb only 2)cand d only 3)a,bandconly 4) none of the above

IS g g (NRC) AYT AISWId 3fleied THR g PuIvuIrea sieiera FRIer simumare! Afde
(AWW) HTelieTdh! PHIvedT dBIIABIIIR dhel UTfgot ?

9) ISISANT UehaT Ufeed AiR=ITAS] 30T TR IMSISAT SHal

R) Uik A=A AT GHal M0 TR SATSTSATLT Tebal

3) SMSISIIT Uehal UfgedT Hig=ard 3T HeR JeRGSATT Uehal

®) Ufeedl AR ATSISAIT. GGl MU FoR RIS Uehal

Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)
should be observed in community by an Anganwadi Worker (AWW) as per which one of the
following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly

TEYDIR Aheel AT i s7reuen A (HIN1) =1 |Heiid fbar get Siieiedn Hepsuneal Siacs<
eI PHMHIheaaIe! Fagetel SNy 3 ...

9) SFIRER ?) IRIeImdR 3) RerfaRa ) HICEH

The drug of choice for chemoprophylaxis to healthcare professional and close contacts of
suspected or confirmed case of pandemic influenza A (HIN1) is ...........

1) Zanamivir 2) Oseltamivir 3) Ribavirin 4) Amantadine

WHO gR IRWIFEY HHH ATl STRY detell od. Qletiedch! PIUT ded @R 37 ?
a) AMdl IRR TTT AR

b) WY eTor, SRR ST AT e FT TieiTg <01

¢) YRGS, AR SMOT e GHfead ol

d) ST M7 AT e o

i SR :

9) a %h ) a 37 b Hh 3) a,b aMfr ¢ ¥) h d
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Principles issued by WHO artificial intelligency in health. Which of the following principles are
true ?

a) Protecting human anatomy

b) Promoting human well being, safety and public interest

c¢) Ensuring transparency, explainability and intelligibility

d) Ensuring exclusiveness and inequality

Answer Options :

1) aonly 2)aand b only 3)a,bandc 4)d only

HLYTT STRINATT 99 (A1) ST Tl TR RAGIRIE ICeTIRR AT HIGHTT TR
T, I FAicaet Pl YHuT IRETET YRAST JFeHTIFR AT IRIRTN SIRGRUY FY 3R

ETefictudh! PV dRieT VST Thel dgeiid Fard ol & ?

9) TR 3= R) TSR ArEudT

3) PG AT ot 8) TgaeR GRIEaDT

"In research study investigation studied the prevalence of Alzheimer's disease along with total fat
supply in 11 (Eleven) countries. They reported that total fat supply is strongly correlated with
prevalence of Alzheimer's disease."

Which of the following best describes the above epidemiological method ?

1) Ecological study 2) Community trials

3) Cross sectional study 4) Systematic reviews

3T SR&T ST 7 BRIGT 00€, TR 37 FgUT IR hetea fAfder yereifieh @refler amed /3.
a) rgarerepiRear TR febar IfifNeh 3=

b) 3= ITAR FRAMT ITURelel goft

c) foraa woft

d) sitwer anfor sfiweft Sarey

RICTUDT DIV /T 37Tee ?

9) %eh a ) a 37l b Heh 3) a, b 37T ¢ Bh ¥) Rl T4

Following is/are among the various substances defined as “Food” according to “Food Safety and
Standards Act 2006”.

a) Genetically modified or engineered food

b) Water used during treatment of food

¢) Live animals

d) Drugs and medicinal products

Which of the above is/are correct ?
1) aonly 2)aand b only 3) a,b and c only 4) All of the above
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94) WIS SIS JodT — Sia g AT AT BIOTR AT

NICER ] STYTETY R
37) 31 g~ i) gegd
§) § Sfia~Ta ii) Fapegl
P) H SHaTad iii) IheT
SEIRERIEEELS] iv) Td3TIErdYuT
g I :

dJ 9 d T
9) dii i voi
) vid i il
3) i I\ VL 11
8) i i v
15) Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a) Vit. A 1) Rickets

b) Vit. D 11) Scurvy

c) Vit. C 111) Anaemia

d) Vit. B12 1v) Night blindness

Answer Options :

@@ (b) (¢) (d)
) i i v i
2) v i i il
3) i v i
4) i il v i

TERTY SRTSUTAT WaT (7€ ) / (7€ &) =T T84T 2033/ €9
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(20) HRAKN fAs 1ol SHsHRier Weht, GRAT, JsRe

9)  HRARNS JUIUTT TERT INTFAT Fghid HEgwdqol IRGH ... SR el el

q) Heax R) ATRH 3) U . T, 8) Hear @. .
1) Significant contribution of disease cycle of cereal rust in India was made by
1) Mundkur 2) Nagarajan 3) Payak M. M. 4) Mehta K. C.

)  aTciicTdeh! DIUT TRRAT ST YR dTomrdt s arfties erdtas deft aarr=h amr aner o 3 ?

9) FAO ?) WMO 3) IPCC 8) CGIAR

2)  Which of the following institutes are now investigating how to make crops more resilient to
environmental stress ?
1) FAO 2) WMO 3)IPCC 4) CGIAR

3) st Wiefletdch! IvreT Gf¥epl TgaeiR FRIENaR Sacisr 3r=Adl?

q) 3T Q) gfsarg 3) FruRar 8) dafcheh 3rIHa
3)  Which of the following approaches of science relies on systematic observations ?
1) Empiricism 2) Rationalism 3) Determinism 4) Personal experience

) fFdlThel gRIGTAT FHIGST SRicied] ITIRIR A1d I 37 S faafTed gael qui giswid Agwm
PO IUAR febal FAAY PR 3Med g FTEHFNAT feharl Feerehrer Hgia 9 ?
q) fred-siy s ?) TR-3iY 1T
3) 3T AN 8) YA A

4)  What s the name of the study that involves clinical traial in which neither the participants nor the
researcher knows which treatment or intervention participants are receiving until the clinical
trial is over ?
1) Triple-blind study 2) Double-blind study
3) Blind study 4) Empirical study

4) S Alp PeuHT fhaT TSI YR SO 3fdcid PRUART 37fh dod BdTa i1 Fgurdid

q) Tafed Q) AR FEHd 3) HRI YSUIR g) 74 Ad
5) Those who take more time for diffusion and adoption of idea or technology are called as
1) Innovators 2) Early majority 3) Laggards 4) Opinion leaders

§) Harerar fafdy ggdiudl DT Tgdme IRT SRT FHIAE 38

q) I ugd R) TEIHM dd 3) dufhe ugd ) YA ugd
6) Amongst the different communication methods, in which method “Study Tour” is included
1) Group method 2) Mass method 3) Individual method  4) Virtual method

©) AT TR AGRIME] BIACRM Blel HIEIHIGR AUl Halg ATeel Sl T Aflhia o/
U,
9) Hare Q) TR 3) XD 8) NIeTh! PR ATer
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The process by which innovation is communicated through certain channels over time among the
members of a social system is called as
1) Communication 2) Diffusion 3) Adoption 4) None of the above

ST e Tehh 3Te.

9) AR ) T 3) Pcs 8) A
is the basic unit of society.
1) Neighbourhood 2) Group 3) Family 4) Community

U AT S ‘0 e AT Uid AHIT AT s goart wHe |t sd same
T Fraevard wae det Swfie giRid 2.

q) rf-Trefed T R) |1 gt T

3) TR g TG 8) AecIeCS] ATgfesd FHAT

A sampling in which each possible sample of ‘n’ different units has an equal chance of being
selected which also implies an equal chance of selection into the sample is called as

1) quasi-random sampling 2) simple random sampling

3) stratified random sampling 4) multistage random sampling
UCC G HhQRIdT W8 TR STl R ...

q) I SRS BT A TS

8) AT Pl UISUI=AT Hifgcie Tasaor e,
Patent and copyright are insisted upon because .......
1) One cannot take any risk in science

2) Tools of production are privately owned

3) Royal Society approves the patents

4) They offer an explanation for perplexing data

warer Rigid fae Agwarar weft aeeT Sar ?
q) T IR AT Hed Al
?) TR IS g Tgedl.
3) T PISITd YISV AR FUEpuT .
¥) d Ie IS 9T gl
When is a theory considered as very important ?
1) It does not contain experimental data
2) It changes the centre of science
3) It offers an explanation to perplexing data
4) It is accepted in the Royal Society
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(39) fas fAerT, TosIgR UrRmYd gfaurn faem

S IS WUTRITS! WTeflerieh! IV eglocs] iR dTaRell Sl 2

) 3.3 Il R) 99 Fel 3) 33 el 8) 43R gl
Which of the following voltage levels is used for secondary power transmission ?
1)3.3kV 2) 11 kV 3)33kV 4) 132 kV

I AR g derterged, W 31T WR e f$m 2.4 KW 31e, o) UleR e faelt 7

9) o Q) 0.4 3) 0.4 ¥) 9
In a two wattmeter of power measurement, reading of both W1 and W2 is 2.5 KW. Calculate the
power factor.
O 2)<0.5 3)>0.5 4)1
HfeAehTT SR 20 TSt 2090 USHT SYaicR BRITSH 3lgel R FHICHS o T
ATt Tesclt ST
9) FAR 90 S ) Yo e 3) gAR 80 S 8) GAR ¢ S
The Deepwater Horizon oil rig explosion on 20 April 2010 in the Gulf of Mexico led to the spill
of gallon crude oil.
1) about 10 million 2) 50 million 3) about 40 million 4) about 4 million
fegier SO UfeR wofiea RIS dsf aIR ............ TR,
9) -8% Q) 93-R9% 3) ¢-90% 8) Y—C%
The auxiliary power consumption of diesel engine power plants are..............
1) 2-4% 2) 13-21% 3) 8—10% 4) 5-8%
It Tened), fEie §oiF AR ... T TN FTerd.

9) 400-9200 rpm ) 9300 - 3000 rpm 3) 3000-Y000 rpm  ¥) 4000 rpm
In DG sets, diesel engine is typically running at speeds of .............
1) 500-1200 rpm 2) 1300 - 3000 rpm ~ 3) 3000-5000 rpm  4) above 5000 rpm

HUT Peled] PihICATS TR piorc Soft (i) weReft ST ?

9) 92 T Y 2) 4o & 900 3) 4T 90 8) Y T Yo
Which range of slump (in mm) shall be adopted for vibrated concrete ?
1) 12 to 25 2) 50 to 100 3) 5tol0 4) 25 to 50

qex 3NfT Tercdwar efifie Sieameiicl PraemRITe! aiRedT U=l Sadie Joordt el ... e
SR AT
9) Yoo [H ) 9.2y HiR 3) Q"R ¥) 4 Hiex

The length of the flexible conduit used for connection between the terminal boxes of motor and
starters shall not exceed .............
1) 500 cm 2) 1.25 metres 3) 2 metres 4) 5 metres
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TR GRET, SRR AT HreproiredT IR AfdT 020 TAR, S HREFITT DIURATE! fSepToft
LT e SUMes Jog B, fohar Sues Pivrilel ARG g@IUd Bl SaTe SRaH! ehlel &M
PRUGTIRET SfTaifere et ST, TR eRrerd fihar g 3ifeiep premmatlt, QR T Ftchl
fohaT eI, 31en IR, AT ARBRA fafed Bedr AR, 3rer il 3Mfor 372 dobd et JaT
BISERICH

9) o feaw ?) 9 fead 3) AN a™ Y) SIS aT

As per, the Occupational Safety, Health and Working Conditions Code, 2020, where at any place
in a factory, an accident occurs which causes death, or which causes any bodily injury by reason
of which the injured person is prevented from working for a period of or more,
immediately following the accident, then employer or manager of the factory, shall send notice
thereof to such authorities, in such manner and within such time, as prescribed by the appropriate
Government.

1) three days 2) seven days 3) twenty-four hours  4) forty-eight hours

PREMT AT 998¢ TAR, ST PREFIT Y&l SR DR AHI: PRI 3R, T
fafea aTpRTE urEifd! Wieft Suctey P fell STsel, ML fafgd IuRUl SRicHer, Jerhiy 37Ifr
IR wrarater TR fAfRd snfoT Hmr dobd AgH Heel Uy IR

) 400 R) Q00 3) 900 8) 40

As per Factories Act 1948, in every factory wherein more than _____ workers are ordinarily
employed, there shall be provided and maintained an ambulance room of the prescribed size,
containing the prescribed equipment, in the charge of medical and nursing staff as prescribed and

shall always be readily available during working hours.
1) 500 2) 200 3) 100 4) 250

.......... R & IR0 FRIHIER SRS Uil Eee™ SHRe SITdTd.

9) yo kVA ?) 900 kVA 3) 4o kVA ¥) Yoo kVA

Pole substations are erected for mounting distribution transformers of capacity upto ............
1) S0 kVA 2) 100 kVA 3)250kVA 4) 500 kVA

TR ... T YR ATEhTA] SR SR AR 0T el

q) TepT feaard o kKWH + 38

Q) Tl Al Pvrg! &vft Fgeiet |afd Al kVA

3) PR Tl 30 A= Biaeiar Jald HioT k VA Tlic
8) TepT feaTd Uepur kVAH + %

MSEDCL calculates maximum demand of a consumer on the basis of .............
1) Total kWH in a day + 24
2) Largest kVA drawn at any instant in a month

3) Largest kVA drawn during any consecutive 30 min. slot
4) Total KVAH in a day + 24
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TCIRPT IR, Raaadt | ... T YPR oo JMaTH 3N /137

q) 2, Rrer R) R, A AM 3) 3, R 8) 3, QFF HA
In staircase wiring, the number of switches required are ....... and of the type .............
1) 2,singleway 2) 2,two way 3) 3,singleway 4) 3,two way

OSHA T6R, STEL ¥ qof 9 &1 38 ?

9) oS oH TrguR TafeT R) R ARt TauoR dTces!
3) IRET AP ThIch AT 8) STCUDICH FhIch UTTe!

As per OSHA, what is the full form of STEL?

1) Short Term Exposure Limit 2) Safety Toxic Exposure Level
3) Safety Transport Explosive Limit 4) Short Term Explosive Level

ddt, Ugie, ¥INF fohar det—smenRa UeaHeliel 3TN WTetletsmior aiffdhd 3MTed

9) @ A ) T B 3) @ C g) @i D
Fires in oils, petrol, grease or oil-based paints are classified as :
1) Class A 2) Class B 3) Class C 4) Class D

e SISIRTAT ARSI 3T SIUINTG! AT Sugth UGS TN ..........

9) BT 5 R (CFR) R) M &MUl &R (SAR)

3) TN 0T R ¥) TN g 9H10T (SMR)

Most useful parameter to predict the virulence of acute illness is .........

1) Case Fatality Rate (CFR) 2) Secondary Attack Rate (SAR)

3) Incidence 4) Standardised Mortality Ratio (SMR)

3R |7 37T fafder SRR wrigrHrear aRuHaRSGdd Jadb PIvKd 2

9) T BT R R) Ul B0 R 3) AR 8) QIH IO X
Which is the better indicator of efficacy of health case services and various health programs ?
1) Incidence 2) Prevalence 3) Case fatality rate  4) Secondary attack rate

S P HRUMT fohell Al BRIURCTM 3N @ qURAchediell HIfed SR 3TTaedeh 3Te. I PIura
YpRaT IR Sifredr 3 ?

q) P4 blel TSl Q) PrRIC e

3) $les oI ¥) HRT AFIFA TSl

An investigator needs to know how many people working in a bank have hypertension. What is the
type of study represented here ?

1) Case control study 2) Cohort study

3) Field trial 4) Cross sectional study

SRR fereom a@me............... ST T FHTIE 37T

9) HAZHA R) IRUT 3) HSTCIeRRUT g) farem
Principles of health education include all except.

1) Participation 2) Motivation 3) Reinforcement 4) Punishment
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gTefleeh! PIUT JhR SIHED IIURAT ST ATal ?
9) STe5cT eIl aTuR e fed 3T dhciied Q) MR AT YIRS

3) Pl I b1 ) ufafeefi amsfen
Which of the following is not the type of lighting used in tunnels ?
1) Lamps and lanterns using burning oil 2) Gobar gas lighting
3) Coal gas lighting 4) Acetylene lighting
JIUPHRIC! DIV SIS I HeA AT ?

q) fafdre T :-Y UeT HHY aRTetel TS

R) AR TocaTeRsur 2.4 & TR 3Rfelel S8

3) Y:0 M Y-0 T AT TocaTHYU SRelel TS

8) 3-4 M g-4 ST AT [oearHyvT 3Reiet TS
Which stones are considered unsuitable for construction ?
1) Stones having specific gravity less than 2-5

2) Stones having specific gravity greater than 2:5

3) Stones having specific gravity in between 5:0 and 7-0
4) Stones having specific gravity in between 3-5 and 4-5

ADAS T 97 3fe¥ A Gehied BV I Uich PHHT Ul g 3L, ATHERS T TaAeT STITOT FRIETA
Ut TaT FHIGE 378 S RATeRIA. HAATGHIT ATAdT Aad axaid. ADAS T J0f B0 BRI 3118 ?

9) T 9 HERT VMt Q) 3T T IUETT HoTTett

3) TN FIER e Uulled! Q) el 9 TERY HUTeAt

The main goal of ADAS is to reduce road risks that are caused by human factors. It includes

advanced technologies and safety systems that assist drivers during road journeys. What is the
full form of ADAS?

1) Advanced Drone Assistance System 2) Anti Drag Accident System
3) Advanced Driver Assistance Systems 4) Auto Drone Assistance System
Rferccrean Fenfd CBRN =1 31 &1 318 ?

q) TR METRT AU D

R) Bt s*s ¥ cdad

3) BiHdd, IRANTDA, S3MNeAlThe ST FfFeRR
g) TR qevd SR i

What does CBRN stand for in the context of safety?
1) Computer Based Resource Network

2) Chemical Based Risk Network

3) Chemical, Biological, Radiological and Nuclear
4) Critical Basic Risk Number
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UPS 3=8c¥all S9N hRUGTATST WTotiefieh! hIuldT aTaRal STidl, Siegl 3iidensT UPS <7 steaid UPS
SregeRAEl QY T gt ?

9) DIAC ?) TRIAC 3) GTO 8)SCR

Which of the following is used to bypass the UPS inverter, only when a fault develops in the UPS

inverter in case of an online UPS ?
1) DIAC 2) TRIAC 3)GTO 4) SCR

Qeflelich! PV Pregevd AN TR 38 o Wb YRl Yeplfcep M Mg o IS FaRwuciie]
RFTera ¢ HUART HU BRI ?

9) D/A ) A/D 3) DAC 8) Dto A

Which of the following is the correct representation of a converter that is a kind of integrated

circuit which converts singals from continous form into discrete form directly ?
1) D/A 2)A/D 3)DAC 4)DtoA

qH% e 2 ... e

9) TR 7Y ?) Feefiercd A

3) it g ¥) HEIBIIHTOT TUMET betl
Standard deviation s ...

1) A measure of average 2) A measure of variation
3) The same as range 4) Calculated like median
UICRRIHICY. TSR UG R

9) @lecorar g ?) AUEH T @lecH

3) aUEHE O UfcRIU® ) foremo I ufeRiy
Potentiometer as a transducer converts :

1) pressure to voltage 2) temperature to voltage
3) temperature to resistance 4) displacement to resistance

SiegT g vatg Rl dosear SR fheieded Sl el fhetmic Tarer Iafid axal. € fiega
TATERAT ... RO 3.

9) IiHH Q) Fehig 3) IR ¥) ISUTT

When an electric current passes through a tungsten filament of an electric bulb, the filament
emits light. This is due to the ...... effect of electric current.

1) Mechanical 2) Magnetic 3) Chemical 4) Heating

SiegT eI HaTg ared! degl dheaesied I T ...

9) ared Q) Ted 3) DIV dGeT A8l @) aRIcTuh! Praral Aral
When the current increases, potential drop across the conductor ......
1) Increases 2) Decreases 3) No change 4) None of the above
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Ticqey AU dhedlaR FaIafeld UiaR thaeX BholoRAg PURTCK............
9) TR c@lecs] HHT PR

Q) TR YR YdTg dread

3) fieHYyd Preciet! fifsharedial ehl &Ht A=

8) ISHYT PIaeicl Alshd hl HHT P

Capacitors with automatic power factor controller when installed in a plant .............
1) reduces the voltage of the plant

2) increases the load current of the plant

3) reduces the reactive power drawn from the grid

4) reduces the active power drawn from the grid

fS5ieT UTdR ToficaT 3Tdoid PRUITRT HRICT Wiofleldehl ATal?

9) PH TGl Q) PH! TG @Y

3) Fald dRieY gt BN ¥) e i Ul sTaedhdr
Following is not the advantage of adopting diesel power plant ?

1) less pollution 2) low installation cost

3) most efficient plant performance 4) minimum cooling water requirements

PIUT YHREIT IR TATH 3N Sh G IR S ST TaToioRTYT G gaual STdTd 37ifr
R cdigT dTetadid, SRex fohRdrd IMfor dist FHfor axdrd ?

) TFelel T UleR Teficd Q) II W YR TelicH

3) IRI-RIS UieR Selicd ¥) SRRFC BIc IAPR UieR Telicd

Which types of plants use the geothermal fluids that pass through a heat exchanger with a
secondary fluid and then, drive the turbines, spin the generators and creat electricity ?

1) Flash steam power plants 2) Dry steam power plants

3) Binary-cycle power plants 4) Direct heat transfer power plants

DIV YHRT AT Ig Sdred] IRDMIE 38 PRIVCEH JAREd A, W &amed Al
TRHNE I ?

9) Ueed cated Q) Do TdigT 3) HIfFRA caigT ¥) Tal caig

Which type of turbine ensure optimum performance with small height difference, but also with
large variations in capacity ?

1) Pelton turbine 2) Kaplan turbine 3) Francis turbine 4) Turbo turbine

TetieTdehl PO TRl Ud U Tobciel UTufl BIGUITATS! aTuRe STl 2

q) Foc q Q) Ier ud 3) §iS Uq 8) et du
Which of the following types of pump is used for removing leakage water from a plant ?
1) Draught pump 2) Grape pump 3) Drainage pump 4) Tumbril pump
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HRR EISC 30T T R 7gUd @letlefieh! SIu JRaet S ?

q) SRSt R) UIUIRI Uq

3) SUeR 8) BRISC ST TaedieseuTd
Which of the following is provided as a fire hydrant and spray system ?

1) Water reservoir 2) Water pumps

3) Impeller 4) Hydrantand HVWSS

3Y) Wleileldeh! DI TR TelicHe e MM &lch hHT PRUATRT Hed R ?

35)

3%)

36)

30)

37)

3¢)

38)

q) 3SR fhal STEIBR 3MgA-3gelcs IUDPRYI

Q) 3Jlgel-ggeics hecl

3) AT T PRATd

8) TIgS-Pes Rihd DR

Which of the following helps reduce fire hazards in a power plant ?

1) Outdoor or indoor oil-insulated equipment 2) Oil-insulated cable
3) Are quenching by gas 4) Hydrogen-cooled synchronous condensers

Teiietderl v s a7ifr Rer fafee ulemed FHifdE s ?

q) UgieT ATeaul fehar faaRoT gfaer R) AR IRa-d UHA Tha
3) YRH® IR IYPRU JHAH Bl g) erRh ik Jha™

Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

gedlell Teg ST &HaT HAffad Sauart Hed @Ra ST L. URIT TR&T <.

q) FIY YaTE R) SUPVMGR I<aTfee ISOIT

3) BRR S 8) ReHd gfer

An earth mat helps in limiting the ground potential and offers protection against the .......... .
1) faulty current 2) heat produced by equipment

3) fire jazards 4) cooling of the system

UiqR FCIFHEY g IcdT aIove Qiefletden! diold o del STId ATal ?

q) 3NeeRee ABCFT TREIHYT JfegReglocs] et ol

Q) dexe R UgH oy

3) IyffT T IR BReT thot JATOT UTSS SRR TToT TSl PRUIRITST HNT IavIT Rl
¥) TffhaTcad SRARITS AT UeM d¥e cglecsT UTded! fHafad ot

Which of the following is NOT done by using earth mats in a power station ?

1) Discharging the overvoltage from overhead lightning masts

2) Providing neutral earthing

3) Arranging a path to discharge the charge between phase and ground by using earthing switches
4) Controlling the voltage level by providing a path for reactive power
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Tefiedehl PIU gler FCeFHe SRfT dedt R AT amoRd T8l ?

9) 0T 3oy RywferT Rl R) et amfor fefthr e

3) GRAQI fIeROT yorett Q) STl A

Which of the following does NOT use the DC battery system supply in a power station ?
1) Control and signalling work 2) Relays and t he tripping circuit

3) Supply distribution system 4) Emergency motors

SR o9 IR ORI SRIAMT, Skt SN S SR ... TRV Siselel! &,

q) T e B R) SN YRIST |

3) Je3dR YRdal Hld 8) Add Yxdal &Hld

Floating in DC bus bars, the battery remains connected to the DC bus bars as a .....
1) direct supply sources 2) standby supply source

3) fluctuated supply source 4) constant supply source

SRt R JhIIATS] leR RIveHAEd Il YRl dest aTuRel! Sid el 2

9) Fe-TRTE 98 (STYeR) Q) clie-URFs dekt (wic)

3) 3T A (IR®) ¥) Ni-Cd e

Which type of battery is NOT used in a power system for backup of the DC supply ?
1) Lead-acid battery (tubular) 2) Lead-acid battery (plaint)

3) Dry cell (circular) 4) Ni-Cd battery

iR ¥ Wletlefdeh! Pl FgRIdh IYPRY SAYC UiaR T foog aRd dTuRel ST 2

9) Tt Fer ?) TR 3) TR g) UPS

Which of the following auxiliary equipment of a power station is used as immediate against the
input power interruptions ?

1) Charge controller  2) Converter 3) Inverter 4) UPS

GTefieTdehl P IURUT fRR T glecomed gRUT TR 37SeYC calecs] T GRARAT FEUd
3R ?

9) g} Q) fetpiex
3) AC @lecst PelelR ¢) Cuc;pcpmverter

Which of the following devices convents fixed AC voltage intto variable AC output voltage as the
same frequency ?

1) Inverter 2) Chopper

3) AC voltage controller 4) Cuc;pcpmverter
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8y) fociedn Al V, o 4o e,

=

1/ \+
L "
=

) V;=V+V, +V, JV;=V-V,-V,
V3=V +V,-V 8) V,;=V,-V,-V
44) Find the value of V in the given circuit.

<

1/ \+
/
=

HV;=V+V, +V, 2)V,=V-V,-V,
3) V3=V, +V,-V HV,=V, -V,-V

wy) feoicar IfheaefiaT BdEae saidRa exal AU HHTS ch! HIT.

682 4Q
e S
— 12Q Ry
36V
' B
q) § dc ) RIHA 3) 9¢ 8) W I
45) Calculate the maximum power, that can be transferred from the source in the given circuit.
682 4Q
] }—— A
e 12Q Ry
36V
' B
1) 9 watts 2) 12 watts 3) 18 watts 4) 24 watts
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I W FSATEST FroledT AR, AT A -gahIg yereiiar SRy Aedl, 372 gAhIeaT iewal
STTCT:
9) 9A YBRA TFABIR ) PR YBRA TABHR
3) IS PRS TFABIR %) TR Pl IAhHA
In some specially designed transformers, the core may be of non-magnetic materials, Such

transformers are known as :
1) shell type transformers 2) core type transformers

3) biased cored transformers 4) air cored transformers

PRI ol TheuTd WieTieTih! DIV TAT aTdRel ST gl ?

9) DR EEIN ?) Sﬂ?flTFIElT_E' 3) Fel UaTg ) IR Th
Which of the following technologies is NOT used in a geothermal power plant ?
1) Dry stream 2) Wet stream 3) Flash stream 4) Binary cycle

faaRor ezt fesmg el 9= ey a1me:

q) ?) ®lecsl oF

3) Sgoied UfRIY ) =T ToTTett

The main criterion for the design of the distribution feeder is :

1) the material 2) the voltage drops

3) the insulation resistance 4) the distribution system

Aifers e Ret (SSR) WATS Wreflel faam I 3med & 3RIed JmRd o S,

fem 9 : A 3 @ 3R lee DC, HIGHT 3MSEYC c@lecst fhaT 280 V, 90 amps R fE[q FaTg
AT PRI IIoRe SIS 2Tehd.

g 2 : SSR =1 T&T TCHUD] T 3l MME, STHE U fehal Sifieh Sh-¥8 ese—
IFSID SRS, fhar U< Ubrel AT ST Tehl e Hiel AAfceg IUPRUN 3R

9) e fauH He aed

R) T Ry Wit amed

3) faum 9 |Fg afe SMfYT U R /I &g

8) faum 2 I 3 3Nl Ry 9 RT3

State whether the following statements for solid state relays (SSR) are true or false.

Statement 1 : Typically, 3 to 32 volts DC, can be used to control a large output voltage, or
current such as 240V, 10 amps.

Statement 2 : One of the main components of SSR is an opto-isolator, which contains one or
more infra-red light-emitting diode, or LED light source, and a photo sensitive device within a
single case.

1) Both the statements are true

2) Both the statements are false

3) Statement 1 is true and statement 2 is false

4) Statement 2 is true and statement 1 is false
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SRS SR AToRSAT ST Safaed feeesiear Aeaid @hefler faum foaRm &

a) I JREra anfor ke armea.

b) d 3MaTd faeia™ fisg urevaml warfl < A,
c)ﬁmﬂiﬁq@ﬁ.

d) SR FISFea Jorrid SeFT HishaT e .

TIAIH P R gh 3R ?

q) ek (a) MM (b) ?) & (b) M (c)

3) B (a), (b) 30T (c) 8) Heh (a), (c) 3T (d)

Consider the following statements with respect to electric detonators used in blasting operations:
a) They are safe and certain.

b) They do not permit successive firing of holes with required delay.

c¢) They are not waterproof.

d) The process of ignition is smoother as compared to blasting fuse.

Which of the above statements islare incorrect ?

1) Only (a) and (b) 2) Only (b) and (¢)

3) Only (a), (b) and (c) 4) Only (a), (c) and (d)

Glefle] Teehial fadR T:

a) TSP TRy b) SNTET 9gd

) SRR Mhiga d) forore=f et

R TS Doled] TCHIUD! DI UTh SARCTAIC! SEIH  FhICHIIT THIINER GRUTH PR 2
q) (b) 3T (c) ?) (a) 37T (b) 3) (c) 3rmr (d) 8) el T
Consider the following factors :

a) Nature of rock b) Method of tunnelling

¢) Profile of tunnel d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?
1) (b) and (¢) 2) (a) and (b) 3) (¢) and (d) 4) All of the above

Hast Jede wicen STt Wieflatd! HIv T I 37ed ?

a) TP IUAR HIHIATC! ThTUE SR e UG Ul Il

b) Fa JFCHATC! ATl TN I,

¢) Bglcrh fSee aaeaed 4 F—Feddl & AT befl s,

IR G

9) %k (a) 3T (b) ) W (b) 31T (c)  3) &b (a) 3T (c)  8) Rl A
Which of the following points are valid for design of sewage treatment plants ?

a) It is better to provide more than one unit for each treatment process.

b) Preferably by-passes should be avoided for all units.

c¢) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :
1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (a) and (¢) 4) All of the above
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IO e STaciid WTefierdhl HIv Iifdh FAlReicdd JHa 378 ?

q) DY T ST Q) TRhIIT BHY & STaID ATE

3) IH Fedlop fHfdcht ¥) JMRIFHE 3P AdRID

Which of the following is a disadvantage of mechanical floculators in case of water treatment ?
1) Dead spaces in the corners 2) Less capacity of tank is required

3) Better floc formation 4) More flexible in operation

I U AT o TERR AR SR, <iegl ol hHTel SIhUTRT &10T UTH B1get oicgl

9) SR SR YR TSXAT HEIURT SdT STal.

R) PHTA AR 37 TR STl AT I TERAT HEI HHI TR AT GROTHT ARTIRT FH SRTER SR,
3) URUMHT YR TR ALTHTT el STl ST AR R R 3ael ST,

8) TSN FEIHAT SR SR R TIebed] STl AT TR §cR AR Tl ST,

When a rolling train is moving on a girder, then absolute maximum bending moment will be

obtained when

1) maximum load is placed on the middle of the girder.

2) maximum load is placed such that middle of girder is equidistant from maximum load and
resultant load.

3) resultant load is placed on the middle of the girder and other loads are placed accordingly.

4) maximum load is placed on the middle of the girder and other loads are placed accordingly.’

WReeTD T WA Felerd IuTes STIUT hifshe HRIeRedT 3ifrd fohy Foofd Icure U fasTeredr
PIchicTAT TS Bl

q) Tafdehdd AT R) RISR Huieh

3) Sod AlegeTd ¥) IR ATEt

The loss of prestress is due to ereep of concrete obtained as the product of of the prestressing
steel and the ultimate creep strain of concrete fibre.

1) Modulus of Elasticity 2) Shear modulus

3) Bulk modulus 4) None of the above

R DfheHed PN BRUTHS SH-IRHI DIHIC ANALTD ATE ?

9) e TSt masRIe o 3T ot

Q) JE-RhIT Dishic 3MGad UTAUIRT HHT STAEGR ST

3) ST-IRhIT Pishic quTd 3T HIARY AT g1 M7 SR 7 UfdpR <o

Q) R T4

Due to which reasons is high-strength concrete necessary in prestressed concrete ?

1) To design commercial anchorage for prestressing steel

2) High-strength concrete is less liable to shrinkage cracks

3) High-strength concrete offers high resistance in tension and shear, as well as in bond and
bearing

4) All of the above
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SR €ch JANBREUIRIS! ST SIRGHIIT FHIUMET SIS HUIRITG! @letiedchl Dol HEMRIE
QQ?F[ dURST SISy 2AhdTd ?

) FHE IR II0T Argfekeep 0 Fraof

R) BN dglel A PIEIC Fee

3) B Pl IO T AT IS

) THE IRIRT ST qgTerufiiy SRy

Which of the following epidemiologic methods can be used to identify risk factors and estimate
the degree of risk ?

1) Cohort study and Randomised Control Trial

2) Case control and cohort study

3) Case control and cross sectional studies

4) Cohort study and ecological studies

Pl IR IR

q) TR/ Tl TpROr

R) URHIT Premaedl SRIM IMTFAT 4 I FehROT! (T SMfOT ST) aRaRdT
3) Weh S, IR fIREE. HehRor

¥) uredT 39 H Uil {d TTe] ThROTH! IRIRA.

Period prevalence measures :

1) All new cases of disease

2) Frequency of all current cases of disease (new and old) during a defined period

3) Only old, existing cases of disease
4) Frequency of all current cases on May 31 of a year.

a) Mg gaiug R o b) RGP RMET TaiUE T B

¢) S HhISesid THIT DI Il d) 3FTTT Mere GRUI Pig Il
Tt S :

9) %eh a Q) Bh b 3) % ¢ %) a, b 3T d weh
Matching is done in case control study to ........

a) Eliminate selection bias b) Eliminate interviewer's bias

¢) Remove effects of known confounders d) Remove effects of unknown confounder
Answer Options :

1) aonly 2) b only 3) c only 4)a,bandd only

T diie go9 DT GaRg, TewuaTed] SigNed [aaRuaNd el Sicgl o Fafiduul S quRIuie!

3fTel AT IR el el STurT dlsrare AT STell 318 ¢ IEUIRAS! UISYRTET hedl. TR
UBR P MR 2
9) PRT AFHA Q) B HAd 3) AU T ¥) gITaRu

Thirty adult male patients were asked about the history of tobacco chewing when they came for
regular dental checkup and then followed up to see how many of them had oral malignancy. What
is the type of study ?

1) Cross sectional 2) Case control 3) Prospective cohort 4) Ecological
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AT 3MpeaRITT HeHld Wielid fAUTT foaR ax1. AT DI /IR 3fed ?

a) DTN JHSART TSI ATal Heh 79T USH Pl

b) FENIA T IRARTT SRS ST JMMBeaR! & Uh &RE qricdid e

¢) DU SThSAR AR Jarea RIS 30T JeIHORAIS! Hieda™ Alfed! UM a-d el

d) PRI SThSART AP WTCT{es T Hifget <.

gt SR :

9) a %h ) a 31 b Hh 3) ¢ a7fr d %eh ¥) d h

Consider the following statement in regards to hospital statistics. Which of them is/are correct?

a) Hospital statistics provides only numerator not denominator.

b) Hospital statistics is a poor guide to estimation of disease frequency in community.

c¢) Hospital statistics do not provide valuable information for planning and evaluation of health
case services.

d) Hospital statics provide information on a representative sample of population.

Options :

1) aonly 2)aand b only 3) cand d only 4) d only

AT o] URATVIETRID Tl Wielielieh! DI ISTaxul 3ATad ?

a) IeAHS T b) FaIg ¢) T T d) foig gor
IR SR :

9) Weh a AT b ) a 37fir ¢ wh 3) ¢ 27U d %eh ¥) b 37T d weh

Which of the following are example of quantitative method of management techniques ?

a) Organizational design b) Communication

c¢) Cost accounting d) Decision making

Answer Options :

1) aand b only 2) a and c only 3) cand d only 4)band d only

RN ST, T e SeaT o

q) TR ITER

Q) ¢ HICHT AR DT ATURVIRT A <, T TuReAT STIUIT Fifehy dardt erhl aTed.
3) B IR FehTelioea Fufd SuaRT #Aed axd.

%) g e Araviined UdhR @@ ICI TG QRIT BHT Bl

In an experimental study, the purpose of control group is

1) Experimental treatment

2) It allows larger number of patients to be used, thus increasing the power of the statistical
techniques used.

3) It helps to make judgements about the results of the study.

4) It reduces the likelihood of making in type II error in hypothesis testing

garaTclt o feam el SRURY HIfRcT ST RO FaR PRUIRAS! aTRad! ST, .

9) IR FILH Q) IR fareror 3) ™R ) afchety
Information of a biased or misleading nature used to promote political cause is...
1) Health Promotion  2) Health Education  3) Propaganda 4) Advocacy
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£4) TEY AT IRUIRATS! 39D DI DI MM ?
9) Y TIR BT INOT fChgy 3ar MOT Harg T A1 ST areranet
Q) AR YR 3T ST e Herrges Bl o FHS BT
3) YRR HRIST dTORT IO FhRIHD Fae FHfor
Q) TRl T4
65) What are the essential skills to manage conflict ?
1) Create and maintain bond and establish dialogue and negotiate
2) Put the fish on the table and understand what causes conflict

3) Use the law of reciprocity and build positive relationship
4) All of the above

£5) SMRIM Tl Hed IHIfIE 3R ...
q) SfeT/Iuctey /AR /I Fab A R,
Q) SUctey 3T HefRrT ser S7fr ARt arR
3) WTUTIShH, CISAIS 3T Folcd SRR T
Q) R T4
66) Operation planning include ...
1) Statement of purpose/deliverables/targets to be achieved/success indicators.
2) Use of available and relevant data and information
3) Prioritization, follow timeline and budget

4) All of the above

£9) SWOT Ut &R ?
q) A, PHHATUN, FSYeS, Hich Q) I, FHFaquun, el Uik
3) A, HHGAqUUN, SRFEEd, AR 8) AT, PAGAd, AU, faaR

67) Whatis SWOT ?
1) Strength, Weakness, Obstacles, Threats
2) Strength, Weakness, Opportunities, Threats
3) Strength, Weakness, Orientation, Thought
4) Strong, Weak, Obstacles, Thought

&¢) PN Y R [T U AR =
a) g SNIID P BRI STSIRM Jog_ gIoATed] SIRGHID HISTHIT S,

b) B TN fagiteft Sieat.

¢) g favamen, /e e fdhar SR aTedeIel™ M FReied] Jogeal HRUMMIG! dTuRel SIS S
T8l

RITUD! DI fIemm sRIsR /3 ?

9) %eh a ) eh a 3T b 3) Weh a 3T ¢ ¥) eh C
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Consider the statements regarding case fatality rate :

a) It measures risk of persons dying from certain disease within a given time period.

b) It links mortality to morbidity.

¢) It cannot be used in poisoning, chemical exposure or other short term non disease cause of
death.

Which of the above statements is/are correct ?

1)Only a 2)Onlyaandb 3)Onlyaandc 4) only c

SUFRUTHE AT—-ATGR o MUTIRATS! Wrefierddh! iore orerf(ies) Agwar 3med/3med ?

q) AYhHd R) Hd & 3) feweeRaw 8) I T
Which of the following property(ies) is/are important in detecting non-linear behaviour in devices?
1) Saturation 2) Dead zone 3) Hysteresis 4) All the above
fSST 28T ac/dc FegcsaE HIEI el SRS ARV HRIGT ... 31T,

q) JRceg sifpT R) fasetar g T

3) GUIRA TldaR therex ¥) Rieeqdt ot fdhad

The advantage of using a freewheeling diode with bridge type ac/dc converter is .............
1) Regenerative braking 2) Reliable speed control

3) Improved power factor 4) Reduced cost of the system

A TN AT ..o SR gffdear Srard.

9) 9HEE Pi diee Q) I T Hise

3) |9ged Pi Hisel g) T Fd

Long transmission lines are represented by .............

1) Nominal Pi model 2) Nominal T model

3) Equivalent Pi Model 4) All of the above

ST Sl IO T SIS, IR edigd amuRe! Si........ ... ..

9) Yec et R) D cdigd 3) Wi g 8) UUeR cdfed

For high head and low discharge, the water turbine used is .............

1) Pelton wheel 2) Kaplan turbine 3) Francis turbine 4) Propeller turbine
ISHEY 3TIeh HIGTT Seoli’ig fRRAT T THIET UIgcHYT STRKId SR 9hidl JaTg ............ U
3G AT,

9) fRR Ryt R R) T Rt fRReT

3) &ftrep R fRRAT ¥) IU-&ffor R fRRAT

Maximum flow of power through a point without losing the stability with sudden large changes in
the load is known as .............
1) Steady state stability 2) Dynamic state stability

3) Transient state stability 4) Sub-transient state stability
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r.m.s I P JoITd TOMTR GARA FHIUT Jo FeUd 3fesedel STl

9) B %haex ) Yld thaex 3) UleR haex ¥) fewafcd thaey
The ratio of maximum value to the r.m.s. value of an alternating quantity is known as
1) form factor 2) peak factor 3) power factor 4) distortikon factor

......... ST JE19 PRUTAIS SUGeh ATE S 9R AT GReSrelt Alched 3l et qee ord.
9) Ryer s ) 9T S S8 SN

3) gl (9) 3mfr () Q) Rt PrEd A

.......... scheme is useful for most of the purposes where the loads and continuity of supply justify

additional costs.
1) Single bus 2) Double bus double breaker
3) Both (1) and (2) 4) None of the above

ETefier TRy Ferid Wi (9) T (¥) #eid g fue faer.

R feRor Jpa Siiftearrsier e, Iuaey fafdy waimer FHEe gkl

9) YleR therex GURUT.

Q) RiffeHqed eAwRd 3¥aH AIfST.

3) I glocord O SR 3Med 312 hied o alrg~Ta A—mciT 3T S—psfarer.

8) T4 Siegirm 3 U Peacs (AAAC) VoSt iegfiifam dics weid REhe (ACSR) f fas.

Select the incorrect statement from options (1) to (4) with respect to following scenario.

“In system distribution loss optimization, the various options available include

1) power factor improvement.

2) optimum loading of transformers in the system.

3) re-routing and re-conducting such feeders and lines where the voltage drops are higher.

4) selection of Aluminium Cored Steel Reinforced (ACSR) instead of All Aluminium Alloy
Conductors (AAAC).

qTRyes ST et foretmed geffareamsHTor Seme araReT ST el earet #mmft (MD) ... 3.
9) kW A% R dle

Q) Tfifmed TR kVA Aicaet et

3) Hig=IT=AT 3T PIVIATE! Tehl HNUAT JIcR™ Aicdciel Har AR kVA

) dlcplos Fard kVA HfR-ITaT 31T PIvicdTal dobl Hicaet et

Maximum Demand (MD) of electricity used in industry as shown in a monthly utility electricity
billisthe.............

1) sanctioned load in kW

2) average kVA recorded within the month

3) highest average kVA recorded during any one demand interval within the month

4) instantaneous highest kVA recorded during any point of time within the month
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Yehed HeIehTed] Faceacred [Ieeisurmes) Wictictidh! HhIvfaT Jeeiar FHael gl ?
31) faem™ wreaefiven dremaeit @) o g,

q) UeheUTeA] X< I Aar fohdined seat (are fohar 1e).

P) QAT FRE 98,

) o 37T uges AT IedTed UTdwid Seal.

3) UDHIRAS! SR dheledl TG e,

g IR :

9 I § @D 3
) d § T ;A
3) 8§ 9 7 @

¥) 3 9 F S

The sensitivity analysis of the project appraisal includes which of the following points ?
a) Consideration of the length of the period over the existing one.

b) Changes (increase or decrease) in prices of goods and services of the project.

c¢) Changes in the levels of cost.

d) Changes in the yield levels of crops and livestock.

e) Amount of subsidy released for project.

Answer options :

1) a b c e
2) ¢ e d a
3) d b a c
4) e b a d

gTefieridh! DI ATUGS fefed geiaamifcd HRALY TR IV YATgreal &Rd THIUNG 318 7

9) FoRUTT FAT Q) Iq™ 3) M §AhD ¥) 3rfresT

Which of the following parameters is inversely proportional to the flux produced in a soiled
electromagnetic core ?

1) Number of turns 2) Current 3) Area of the core 4) Reluctance

SRt AR SicgT Gt O Siieetl S degl €U S8 {9 FaTg Il BRI ..............

q) FRarian Anfil EMF g 318 R) Rl s EMF &H1et 318

3) Al EMF YRa0T S@lecstell foRIY @R 3 8) I dRATT 3T cidb STR 3Rl

A dc motor when connected directly to the supply would draw a very heavy current because..............

1) the back EMF at starting is zero 2) the back EMF at starting is maximum
3) the back EMF is opposing supply voltage  4) torque required at starting is high

At ARSI AeR AT-dAleaR ATeAq, T, BRI ...

9) T UIBIGRIBIY IS TATg R) JIdt wie preet

3) d YIPICR—ID T U ¥) I = aoEE i e

A dc series motor should not be run at no-load, because .............

1) it will draw a dangerously large current 2) twill stall

3) it will run at a dangerously high speed 4) it will generate high temperature
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82)

¢3)

83)

¢8)

84)

Y)

85)

%)

86)

)

87)

9) RgavEmidier Ry grer aif 2) Rgeigerder Rg grar &7
3) Rgaveardier g &ra Fqe 5) e vEraeTET @it

The power expended by a current in a resistance is proportional to

1) Square of the current in the resistance

2) Cube of the current in the resistance

3) Square root of the current in the resistance

4) Square of the potential difference across it

DC (&t 38 RIGIR FARRIC a1 ITefaudrdl BRI ... 31T,

q) PRIGHIT FUROT R) EEid °e

3) e 8) FIERPIS THER e

The advantage of operating fluorescent lamp on DC supply instead of an AC is .............
1) Improvement in efficiency 2) Reduction in cost

3) Longer life 4) Elimination of stroboscopic effect

fafre gt fhgpdivaTe wet-Tftramen A7 TR FRUIRITC! Wielieid! DIV T FetedT Tord!
3MoT BRI-UT fheck HAfhed! ATferent fhaT FHITR Prige FHIAE 37Tg ?

9) IfpT the U8 fiheex Q) A foheex 3) UcdT PH<gck 8) I dheotell gMIFD fohees
Which of the following involves the series or parallel connection of a tuned LC and high-pass
filter circuit to form a low-impedance path for a specific harmonic frequency ?

1) Active front end filter 2) Notch filter

3) Pulse converter 4) Tuned harmonic filter

IR 3Mel 3RAcied] aaHM JrahiRd IRac UIRR 3le:
9) IUT TUIARTIET el R) FeUT IR FHH

3) IS0 YHTOTUE SR %) JoUT TUIRTIET HHT fohar ST

The transformation ratio of current transformers with inductive burden is :

1) lesser than the turns ratio 2) equal to the turns ratio

3) greater than the turns ratio 4) either lesser or greater than the turn ratio

eI FILCIATS! Tt PIv A T8l ?

9) Fierp™ AR HHT gHTor ) T URMYE T

3) It @d BT oY 8) IYRUINTS AROIRT des eft TR
Which of the following is NOT true for outdoor substations ?

1) Less quantity of building materials 2) Low initial cost

3) Maintenance cost is less 4) Time required for erection is less

HH TR IRt ufcrfehanefic Soit WRUTS 0TS Wiefieldeh! PIvraT araRelT STl ?

q) e I Q) Hifefd! Mgt 3) 9ic PURIR ¥) HfeThT HURIER
Which of the following is used to provide reactive power compensation during low load ?
1) Shunt reactor 2) Series reactor 3) Shunt capacitor 4) Series capacitor
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GTAAUDT DIV & BRE IR 3MegR G@leest (VETOS) Fmafor & oraa ?

q) i smasgemdr R) s A-ThwHudl

3) T 3 v) feafd siRe

Which of the following may generate Very Fast Transients Over Voltages (VFTOS) ?
1) Aesthetic requirements 2) Field non-uniformities

3) Prolonged arcing 4) Switching operation

poed), ST SXaHTel ST GORTNATS! HuTeftar W fevepmae auaTet 36T 3. © ITgR Jo1 dhel
STTCT:

9) IR Q) Afhe sax 3) CIRIRAT TS ¥) IR

In sub-stations, it is often desired to disconnect a part of the system for general maintenance and

repairs. This is accomplished by :
1) abusbar 2) a circuit breaker 3) an HRC fuse 4) an isolator

PIUT YPRAT FIeICHR I 00T AMRTD GEIIGR Hlfeldhd Siiseiedl 3 UiRie o
AT ?

9) fFF oY SRR ) IO ST SRIOIR3) T FIAR ¥) ¥ ST

Which type of insulator consists of a number of porcelain discs connected in series by mental
links in the form of a string ?

1) Pin type insulator 2) Suspension type insulator

3) Strain insulator 4) Stray insulator

T3R IRC fhe SHRATS! Wieiietdh! P T ATar 2

9) TRIDT S AT Q) I @Y 3) Pt M Up 8) IRAR RIS FRRAT
Which of the following is NOT true for the air blast circuit breaker?

1) High speed of operation 2) High maintenance

3) Less fire hazards 4) Stability for frequent operation

RIS dpiHed aTRel SR a¥ieT fRIFg P <efad ?

9) gfedheR oy Q) 3RS gIeR 3) Ret Piger Q) AlAIss Prsel
What does the above symbol, which is used in ladder logic, indicate ?
1) Indicator lamp 2) Overload heater 3) Relay coil 4) Solenoid coil

e FRe (AC) TIF AT WleiieTddh! Piurar R el STl ?

q) Wp febar Aferep St bt

Q) 3391 TTREGR INMUHIAT B3I USH Pedl STl

3) SASih & THD

8) g el

Which of the following is considered in an alternating current (AC) station service ?
1) One or more battery banks

2) Emergency backup provided by a diesel generator

3) Flashing of the exciter field

4) Lubrication systems

TERTY SRISTURT WaT (T ) / (T &) T=T T8T 033/ ¢3



R3%)

94)

RY)

95)

RE)

96)

RY)

97)

R¢)

98)

)

99)

For Private Circulation Only

Tl PIUTIT TRRTT STeiid calecst Hiegs ST sl HAficha et (ST et 3 ?

9) ol s Q) SFREX §H 3) A ) & 59

In case of which of the following buses are the voltage magnitude and the active power at the bus
specified ?

1) Load bus 2) Generator bus 3) PQ bus 4) Swing bus

A THATS! vaTeliette! PIvAT ST URATET g aToRe STl ?

q) P anfor | v | ?) P anfr Q 3) Q 3T § 8) | v | enfor §
Which of the following is a set of unknown quantities used for a reference bus ?
)Pand | V | 2)Pand Q 3)Qand § 4) | v |and$

ISR IRAHeM dgd @iefleldd! dIod ged HVDC SUicRul 3o AC-to-DC YIRS
IR ST ?
9) eI SAUHST ) IRAIAG fheex 3) HaR ¥) 3 AT

Which of the following components of an HVDC transmission line is used for AC-to-DC
conversion and DC-to-AC conversion ?
1) Smooth reactor 2) Barmonic filter 3) Converter 4) DC lines

HVDC @ gemd HVAC dTSaedt Wieiieidd! BIort faem g 3 ?
9) g g IIARIER IS VHIUMT YiaR IRAHeFRITS! aTiRel Sird

R) AT TR PHHI eI JhAM gl
3) & TSIl @lecsT UIdedl aTee.

Q) TN IATRMET HH eglecs] JSSTRIIT THAT Bl

Which of the following statements 1s INCORRECT about an HVDC line compared to an HVAC
line ?

1) It is used for bulk power transmission over long distances

2) Its use incurs low transmission losses.

3) It easily increases the voltage level.

4) Its use involves less voltage fluctuations.

AT RRIaaTer] STeRRI, A sa” AicaT MR 3/id...........
q) Afhe saxear e ™ Q) Wfhe ST TR
3) feafim dueiee=m 8) Al sipreal AT

During the interruption of large current, a circuit breaker would be large arcing .........
1) between the terminals of the circuit breaker 2) outside of the circuit breaker
3) between the switching contacts 4) in the material of the circuit breaker

XTI PHIOTT JhR WAfdhe SR AaT FgU aHffepe et 3R 2

q) JATICSIR Wfhe FaHR R) FBII-3Ree Afde sax

3) gRE Afdhe sax ¥) IE—cglocsl Afhe SR

Which of the following types of circuit breaker is categorised as a service ?

1) Outdoor circuit breaker 2) Spring-operated circuit breaker
3) Pneumatic circuit breaker 4) High-voltage circuit breaker
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900) WTefleth! BT a9 DVMs ot ST Tgud gehrar 31g ?

q) S9 gge Soft R) 9 uRqul St

3) TS & IRIF 9 U ¥) JBId! DloTSIeF! IALTHT
100) Which of the following options is INCORRECT as property of DVMs ?

1) High input range

2) High absolute accuracy
3) Resolution 1 part in million
4) Requirement for calibration from time to time

909) g=apERAtiel EMF E,"” & ......... R0° T YdTE 378

9) IRRTO Q) AN UeY 3) Siisetel 8) SiiSelel AHelet
101) Induced EMF 'E,"in a transformer is .......... flux by 90°.
1) leading 2) lagging 3) connected 4) non-connected

903) I FRC S TCHIH! gefetell ST, SATID! R glecst V' feled] CRTdIe Tl GehIeT ...
EUGIGH
9) IEHM IHEH Gch ) PR JHAM Geh  3) Tglecs Jd AN ) YehiT JaTE

102) Excitation current is made up of two components, of which the one in phase with the applied
voltage 'V'is called .............
1) current loss components 2) core loss component
3) voltage drop loss 4) magnetising current

903) AR Je80T YR FraufiRATs! Wiefiertdhl BT Tgd aruRetl I ?

9) TFABMER UG SRIeifaes Tl R) L ATHH T Ugd
3) hfca faioT Ugd 8) IAHIHR Uga! ddeR T Tl
103) Which of the following methods is used for the winding resistance test of a transformer ?
1) Dielectric test of transformer method 2) Zero sequence impedance method
3) Kelvin bridge method 4) Vector group test of transformer method

90%) WTeflcTieh! PIUTH TTUl BRI Rlecs] dasul calocsl STIfUl PHHI cglecst Joul lecs] AN Bidall ST ?
9) eafes IMaTST UTdsiT HIIH Q) Fosur HfeRier aroft
3) SRIHHIE 2 XE ) TFABIERG! SRIcifach o

104) Which of the following tests is conducted by measuring the high voltage winding voltage and the
low voltage winding voltage ?
1) Measurement of acoustic noise level 2) Winding resistance test
3) Transformation ratio test 4) Dielectric test of transformer

G04) e AT, Reest R THARY ... T no3 T TR M,

q) wfcrfebar drop X sin, ?) HfiBR drop X sind,
3) UiipR gu g) fcifshar gu
105) For resistive load, the percentage of voltage regulation is equal to the percentage of .......
1) reactance drop X sing, 2) resistance drop X sin@,
3) resistance drop 4) reactance drop
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90€,) STl DAL T JHA PRI JTHAMRIRE 3R dIeg] Wletiede! PIvRt el sRIaR
3 ?
q) P priema R) P pRIGEAT  3) RaR Priemar  8) P Il RIS

106) Which of the following optinos is correct when copper losses are equal to core losses in a
transformer ?
1) Minimum efficiency 2) Maximum efficiency
3) All-day efficiency 4) Maximum power efficiency

q00) RichIFT HIexa M TRU[ WTeiictddh! o Wiy gdhiar 3R ?
9) & A-airE 3 T el T R Tl e
R) Riepi™T AlCRE T dAlSeR Sfacigd SRAd
3) g WIS w&q: i godrd et
¥) g Tchiedl favga Siuft SfRid aretdet ST — Siel AN G0l ST SAFTUY
107) Which of the following options in INCORRECT as a feature of synchronous motor ?
1) It maintains a constant speed from no-load to full load
2) The speed of a synchronous motor is dependent on load
3) It is not inherently self-starting
4) It is operated under a wide range of factors-both lagging and leading

90¢) SR DC #HIeR FRIRE™ F& el R DC HICET HIUET HRT TR 813 b ATel ?

9) §9T ?) PR 3) AP ) fifers
108) If a DC motor is started without starter, which part of the DC motor CANNOT get damaged ?
1) Brushes 2) Commutator 3) Yoke 4) Windings
q0]) Ffedh AehedT MHeye T ATRelell TP ... 3TTe.
q) SRS JFCAHRR ) JarTehd 3) FURyeR Q) IR
109) The component used in the output stage of static relay is .............
1) Operational amplifier 2) Comparator
3) Capacitor 4) Thyristor

990) ...... g UIeR JATR & aid RiYfeaT Ue a9l s@lecs] Uthlee JURUIRITC! Ueh QTfRhellel! SUhUl 31T,

9) g9ic HURIER Q) 9 geacH 3) RiepFg Uiy ) Hifoter Hufiex
110) .......... 1s a powerful device to improve the power transfer capability as well as voltage profile of

the receiving end bus.

1) Shunt capacitors 2) Shunt inductors

3) Synchronous compensators 4) Series capacitors
999) T@leesT foRaYUT TTds! ... IR 37T 3R

q) e afretar 7fT v gMitE Rl g

Q) Wfdhe ufcrarer a7fdr vgur gMife iecs fagt

3) UleR thercx AT Hfehe Tifcrae

8) R FTEE AT
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111) The voltage distortion level depends on..............
1) the circuit impedances and the overall harmonic current distortion
2) the circuit impedances and the overall harmonic voltage distortion
3) power factor and the circuit impedances
4) none of the above

993) ol UF Sisds fhocx 8 sciidh PRUIRIIST T 3Medf 3ifTethe 3Te.

q) Ryt gMifes arg R) S gD Thept
3) L TP HATE ¥) ITUDI Prargr ATt
112) A low pass broadband filter is an ideal application to block .............
1) single harmonic current 2) widespread harmonic frequencies
3) zero sequence current 4) none of the above
993) 37Ul &forep o Fafd AT R ... 3

9) IS delell SFAMIN g faa vl ?.)WETEB@%[W
3) 9ie JUME Fer 8) e

113) The most common cause of impulsive transientis .............
1) Switching a unloaded transmission line 2) Switching a capacitor bank
3) Switching a shunt reactor 4) Lightning

99%) Wit DT Afhe seaed YfeRe~a Rafam arRer S ?

9) TIR-SART Wfdhc s R) fpm It \fde sax
3) ey |lhe qaR %) SF Hfdhe dax
114) Resistance switching is employed in which of the following circuit breaker ?
1) Air-blast circuit breaker 2) Minimum oil circuit breaker
3) Vacuum circuit breaker 4) SF circuit breaker

99Y) FHiewT ad Avfidg IREVRITS DI Rt Faid AT 3T ?
9) =g fAfead fa™ 9 (IDMT) Rel Q) EI-TE gI-JC 3Megvaxe Ral
3) o Ret 8) aRIcTh! Pratel el
115) Which type of relay is most suitable for current graded protection of feeder ?
1) Inverse Definite Minimum Time (IDMT) relay
2) High-speed high-set overcurrent relays
3) Distance relays

4) None of the above
99¢) Mho YoRaT 3R Rl ATUROMID ... T AREIUTATST ITIRAT STl
q) FHH ST geafteE e R) U PHI AR grAfe ased
3) g AT AN oS Q) oY eI AR e
116) Mho type distance relay is normally used for the protection of .............
1) Short length transmission lines 2) Very short length transmission lines
3) Medium length transmission lines 4) Long length transmission lines
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99() IfeeseT AR fAfSTaR gexe Wieexradr WU felel TRevN 3R

q) e |y favce e

3) e e i s

3) SMeER-IRC ERE

) eyl fRcie aiEfen fSemsTar aR T oees fShRfIRIe HRemr
117) The preferred protection for interturn faults on armature winding of alternator is

1) Longitudinal simple differential protection

2) Longitudinal percentage differential protection

3) Over-current protection

4) Transverse differential protection using split winding design of alternator

99¢) KCL 37for KVL ............ TSt TR 3T,
9) %k DC Afdhca Q) PvriEl Afdhc et SIfeerar R = o
3) I8 DC Afde ¥) Beh AC fde

118) KCL and KVL are applicable for .............
1) DC circuits only 2) Any circuits irrespective of its complexity
3) Simple DC circuits only 4) AC circuits only

99%) a, ¢ AP oo 2 T UfEd IRER 3R
9) YT Q) 3R 3) arfesr ¥) HRIEHdT

119) e of an a, c circuit is the reciprocal of its impedance.
1) Admittance 2) Conductance 3) Reluctance 4) Permeance

920) FRR fRUiIie] Biscisd 3icfd, HURIC Udh /8T FgUT HH PR....... ... 3TfOT SR UB /3T oo

q) 39 Hfhe, e wAlhe R) ¢ Afche, AU Hfhe
3) 9i¢ Afdbe, e Afdhe g) 31T |Afhe, 3T Afdhe

120) Under steady state conditoin, capacitor acts as an/a .......... and inductor as an/a.................
1) Open circuit, short-circut 2) Short-circuit, open circuit
3) Short-circuit, short-circuit 4) Open-circuit, open circuit

939) SiegT eae Ao, fie cafeT™g SedeM SFReR U &M a_d degl el Rad ............ 3.
q9) HPRHD ) I 3) FBRHD ®) 3Fd

121) When an induction machine, working in association with wind turbine as induction generator, its
slipis ...c.........
1) Positive 2) Zero 3) Negative 4) Infinity

933) 3 T SFIH HICRHED, SR R Al Pl 3RS, dR §8F9H Hiexd! e aRARAT ... IR
9) I R) TN [RA3T IRARYET ST
3) AT YRAST ARARIUE PHHT 8) TR YRIST IRARTAT SR

122) In an 3 phase induction motor, if the rotor is locked, then the rotor frequency of induction motor
willbe .............
1) zero 2) more than supply frequency of stator
3) less than supply frequency of stator 4) equal to supply frequency of stator
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933) SSTA Al TR Wfdheal FeH ST Wielictud! v UM aRIER 37Ted ?
i) Gy SIHfchaT YRAaT PReaR Iacigy 3R,
i) Jacbir SIfshaT ARy SICRTeAT HaTgleR faeigd 3R
iii) 9% JHAM FTYC cglecs] MU IRARAT TR AT IR,
iv) ez FRTPR AR SaeieT L.

Tt S :
q) ii 3T iii RIS 3MTe ?) i, iii, iv SRR 37Ted
3) i, i, iii, iv SRISR 3 8) i, ii, iv SRR 3
123) Referring to equivalent circuit of an induction motor which of the following statements are
correct?

1) Magnetizing reactance is dependent on supply current.

11) Magnetizing reactance is dependent on air gap flux.

111) Core loss is dependent on the input voltage and frequency.
1v) Rotor resistance is dependent on the speed.

Answer Options :

1) i1 and 1i1 are correct 2) 1, 1ii, 1v are correct

3) 1, i1, i1, 1v are correct 4) 1, 11, 1v are correct
928) TeA-FTR .......... HeclcgIsicy ARG 3Rl

q) 3IRRR Q) s 3) TS 8) TRITUDT PrEE! ATer
124) A pulse-stretcher is same as .......... multivibrator.

1) Astable 2) Bistable 3) Monostable 4) None of the above
934) T XOR IC T SIS ... IR CIegTd STMSTYE 4 TR .

q) 39 R) Fre 3) fier 8) T
125) An XOR gate produces output “1”” only when two inputs are .............

1) High 2) Low 3) Different 4) Equal

3¢ fopeeet 3iRieicR @ ST dhetedl LC SiRieicRua &8 3ied BRI J&I: ...

9) I SoIrd! IRARAT RRRAT ) fohcorar 3MdR
3) T I I 8) | (9), () 3T (3) der S
126) Crystal oscillators are superior to tuned LC oscillators mainly because .............
1) High degree of frequency stability 2) Size of crystal
3) High value of Q 4)All (1), (2) and (3) are valid
920) T 3MGef op amp & ML ............ gafaa.
q) @l FRIFT adH Ad R) lecs FRIGT @lecst A
3) o RGBT ada= | ¥) gauE FRIRPd @leest |
127) Anideal op amp represents the ideal .............
1) Voltage controlled current source 2) Voltage controlled voltage source
3) Current controlled current source 4) Current controlled voltage source
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9¢) SR eI UIgH Jegvd $T4C fRR 3ael IRy STUSHT deetell, TR oveeveev.
q) aTScygcdn ufifsharelial gedh acater 3Te
?) TSyl fhY TEH ST IR
3) olleaT UlaR Ueex R igal
Q) aral, |fhg anfor ufafhanelier shl Ted geerer

128) If the input to the prime mover of an alternator is kept constant but excitation is changed, then

1) reactive component of the output is changed

2) active component of the output is changed

3) power factor of the load remains constant

4) both, active and reactive power components changed

000
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(3) 9= fasT= g 9=

(3) TR, FaTE T S BRI
) gt

-3 -9

?) T4 9 3 BRI

9-9 R-3 3-% 8—% 4-19 &—% V-%

3) SWIE T
9-19 =R 3-19 ¥—19 4-9 &9 ¥v-—19 ¢-3

(90) ¥irnfers Aifge HoITel T <=l ST

-3 -3 3}  ¥=9 4= §=9 =9~ ¢-9  %-9  90-Y

Hqifgl I Ik 9=

(99) IR TS

- -3 3-9 8- 4- &3 ©v-2 ¢-3 R-R 90-3
99-9 QR-9 Q- 98- Q4-3 Q-2 9- Q-

(92) FRIFIRE dAe=

-3 -9 3-8 ¥R Y-y  £-3
P¥-8  R-3 93-2 98-8

-2 R-%¥ 90-9
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(93) RIER T2 9 IR Ufey

R-¥ 3-9 8-9 4-9 -2 -8 ¢-3 ’-3

(9%) IR RIS PRI

-2 33 -9 4-3 €-2 -9  ¢-8%  ’-2 90-9
R-3  93-3  98-¥ Y- 9§&-3  90-?  9¢-9  R-3  0-Y
Q-3 R3-3

(94) FfEeht <HIeI Semt

-9 3-3 8- Y-3

(9%) "9 IR HUTTett

-3 3-R 8- 4-3 &=3 V-9 ¢—% R-19 q0-3
QR-9 93-% 98-3 Q4-

(90) I SR 3TfOr I

-4 3-3 Y=9 €2 &2 -3  ¢-3 -8 9-4
99-3  93-9  93-3 98- 94-3  9&-3  q9-9 -3  9R-Y
9-3  R-¥  RI-)  W-¥  Y-9  ¥-¥  W-3¥

(9¢) 3Ny 3mfor =it

R-9Y 3-3 8—% 4-9 &3 v-% ¢-9 R-19 90-3
QR-R 3-3 98-9 94-3 %3 Q-3 -3 R-9 20-3
-9 R3I-Y R¥-3 R4-3 R&=R R0-% RC-R RR-R

(93) 31 BT GINYT — Fehl, [eH, WSt Sitae

-1 3-3 8- 4-3 =% V-3 -2 R-3 Q0-3
R-3 3-9 98- Q4=
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(20) HRAKN fAs 1ol SHsHRier Weht, GRAT, JsRe

9-9% R-% 3-9 8- 4-3 &—19 V- ¢-3 R-R 90-3
99-3

(29) fas= Ao, Wwigﬁuwﬁaw

-3 R-%¥ 3-% 8- Y- &—19 9-2 R-19 q0-3
99-3 Q-2 93-9 98- 4-9 -9 quv-9¥ Cc-9 QR- 20-19
R9-3 -3 R3I-R 8- Y- RG—3% V-9 -9 R-3 30-19
39-3 3R 33-3 38-R Sl 3&-19 39-9 3¢-% 3%-3 80-R
$9-3 -9 $3-3 8- 84—3 8e—Y 89— $C-R 8%-19 40-3
49-¥  4-3  Y3-9  Y8-  44-9  YE-¥  Yo-2 Y- YR-3  £0-3
&9-R &-3 &3-3 &8-3 &4-8 &% &U-R &C—R &R-¢% 9o-3
99-3 9-9 93-9 98- 94— g -% vo-3 0¢-3 ©—% ¢0-19
¢9-3 -9  (3-% ¢8-9 ¢4-3 -3 ¢9-9 ] R-% R0-3
R9-3 R3-3 R3-R R¥-3 R4-2 R&-3 RV-3 R¢-3 jR-19 900-%
909-% 902-2 903-3 90¥-3  904-3 90&—-2 9q0U-R  90¢-3 90R-¥ 990-%¥
999-9  99- 993-%  99¥-9  994-Q  99&-%¥  990-¥  99¢-? 99%-9 9R0-19
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